Department Information			of Stu	dents:			Resp	onse Key	<b>/:</b>	
S_Lev: 300 & 400 Level Course Dept: AHSS  Frequencies (top row) and percent	# She	ets Scar	nned: T Y Y	our Dep our Col	rel t lege	5 5248	A= N= D= SD=	N Di Strongly	Agree . Agree . Neutral . Isagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar	nd #R i	s the Ni			Respon					
Please rate the following:	SD	D	N =====	A =====	SA	OMIT		MEAN	S.D.	#R ======
This instructor provided     well-defined course     objectives.	0.0	0.0	0.0	20.0	80.0	0.0	Class   Department   College   University	4.344	0.447 0.447 0.898 0.903	5 5 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	0.0	1 20.0	0.0	20.0	3 60.0	0	Class   Department   College   University	4.280	1.304 1.304 0.968 1.025	5 5 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	0.0	5 100.0	0	Class   Department   College   University	4.327	0.000 0.000 0.951 0.887	5 5 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	0	5 100.0	0.0	Class   Department   College   University	4.317	0.000 0.000 0.809 0.857	5 5 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	0.0	20.0	20.0	3 60.0	0.0	Class   Department   College   University	4.287	0.894 0.894 0.917 0.916	5 5 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	20.0	0.0	40.0	2 40.0	0.0	Class   Department   College   University	4.235	1.225 1.225 0.980 1.000	5 5 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	0.0	0.0	0.0	20.0	4 80.0	0	Class   Department   College   University	4.248	0.447 0.447 0.980 1.026	5 5 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	0.0	5 100.0	0.0	Class   Department   College   University	4.323	0.000 0.000 0.865 0.861	5 5 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	0.0	1 20.0	4 80.0	0	Class   Department   College   University	4.255	0.447 0.447 0.995 1.018	5 5 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: ANTHROPOLOGY		ets Sca	Y	his Levo our Dep	t	135 168 5248	N= N= A=	N Di	Agree . Agree . Meutral . Sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation ar							each question.			
Please rate the following:	SD	D	N	А	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0	0.0	1 0.7	38 28.1	91 67.4	5 3.7	Class   Department   College   University	4.692 4.663 4.344 4.332	0.480 0.535 0.898 0.903	130 163 5212 25436
This instructor provided content and materials that were clear and well organized.	0	0.0	4 3.0	37 27.4	88 65.2	6 4.4	Class   Department   College   University	4.280	0.540 0.582 0.968 1.025	129 162 5205 25430
3. I understood how my grades were assigned in this course.	0	5 3.7	6 4.4	49 36.3	69 51.1	6 4.4	Class   Department   College   University	4.327	0.756 0.743 0.951 0.887	129 162 5208 25420
4. I met or exceeded the course objectives given for this course.	0	1	10 7.4	62 45.9	56 41.5	6 4.4	Class   Department   College   University	4.317	0.655 0.752 0.809 0.857	129 162 5208 25416
5. The instructor was available to assist students outside of class.	0.0	2	26 19.3	45 33.3	56 41.5	6 4.4	Class   Department   College   University	4.202 4.284 4.287 4.288	0.814 0.784 0.917 0.916	129 162 5204 25415
6. The instructor provided feedback to me in a timely manner.	3 2.2	5 3.7	33 24.4	42 31.1	46 34.1	6 4.4	Class   Department   College   University	3.953 3.901 4.235 4.205	0.991 1.053 0.980 1.000	129 162 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0	5 3.7	20 14.8	43 31.9	61 45.2	6 4.4	Class   Department   College   University	4.240 4.261 4.248 4.180	0.855 0.855 0.980 1.026	129 161 5204 25423
8. The instructor set and maintained high standards that students must meet.	0	0.7	10 7.4	61 45.2	57 42.2	6 4.4	Class   Department   College   University	4.323	0.657 0.645 0.865 0.861	129 162 5206 25420
9. The physical environment was conducive to learning.	0	0.7	13 9.6	39 28.9	76 56.3	6 4.4	Class   Department   College   University	4.473 4.432 4.255 4.224	0.708 0.848 0.995 1.018	129 162 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	:	
S Lev: 300 & 400 Level Course Dept: ANTHROPOLOGY		ets Scar	Y	our Dep		33 168 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	1 3.0	1 3.0	10 30.3	21 63.6	0	Class   Department   College   University	4.545 4.663 4.344	0.711 0.535 0.898 0.903	33 163 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	4 12.1	10 30.3	19 57.6	0.0	Class   Department   College   University	4.280	0.711 0.582 0.968 1.025	33 162 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	4 12.1	13 39.4	16 48.5	0	Class   Department   College   University	4.327	0.699 0.743 0.951 0.887	33 162 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	4 12.1	6 18.2	15 45.5	8 24.2	0	Class   Department   College   University	4.317	0.950 0.752 0.809 0.857	33 162 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	1 3.0	11 33.3	21 63.6	0	Class   Department   College   University	4.287	0.556 0.784 0.917 0.916	33 162 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	2 6.1	5 15.2	5 15.2	10 30.3	11 33.3	0.0	Class   Department   College   University	4.235	1.262 1.053 0.980 1.000	33 162 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	3.0	5 15.2	8 24.2	18 54.5	1 3.0	Class   Department   College   University	4.344 4.261 4.248 4.180	0.865 0.855 0.980 1.026	32 161 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	1 3.0	11 33.3	21 63.6	0	Class   Department   College   University	4.323	0.556 0.645 0.865 0.861	33 162 5206 25420
9. The physical environment was conducive to learning.	3 9.1	1 3.0	1 3.0	7 21.2	21 63.6	0	Class   Department   College   University	4.255	1.257 0.848 0.995 1.018	33 162 5199 25389

Department Information		Number					Resp	onse Key	:	
S_Lev: 100 & 200 Level Course Dept: ARCHITECTURE	s	ets Scar	nned: Ti	nis Lev	el t lege	51 321 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	8 15.7	12 23.5	19 37.3	12 23.5	0	Class   Department   College   University	3.686 4.069 4.344	1.010 1.039 0.898 0.903	51 320 5212 25436
This instructor provided content and materials that were clear and well organized.	2 3.9	8 15.7	11 21.6	19 37.3	11 21.6	0	Class   Department   College   University	4.280	1.118 1.050 0.968 1.025	51 317 5205 25430
3. I understood how my grades were assigned in this course.	2 3.9	2 3.9	11 21.6	21 41.2	15 29.4	0	Class   Department   College   University	4.327	1.013 1.110 0.951 0.887	51 320 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	0.0	6	24 47.1	21 41.2	0	Class   Department   College   University	4.317	0.672 0.809 0.809 0.857	51 318 5208 25416
5. The instructor was available to assist students outside of class.	2 3.9	4 7.8	9 17.6	21 41.2	15 29.4	0	Class   Department   College   University	4.287	1.065 0.979 0.917 0.916	51 318 5204 25415
6. The instructor provided feedback to me in a timely manner.	3 5.9	3 5.9	13 25.5	18 35.3	14 27.5	0	Class   Department   College   University	4.235	1.115 1.115 0.980 1.000	51 318 5207 25426
7. The instructor provided relevant feedback that helped me learn.	2 3.9	2 3.9	12 23.5	21 41.2	14 27.5	0	Class   Department   College   University	4.248	1.007 1.094 0.980 1.026	51 319 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	1 2.0	12 23.5	19 37.3	19 37.3	0	Class   Department   College   University	4.323	0.831 1.012 0.865 0.861	51 317 5206 25420
9. The physical environment was conducive to learning.	1 2.0	3 5.9	6	19 37.3	21 41.2	1 2.0	Class   Department   College   University	4.255	0.982 1.110 0.995 1.018	50 317 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	:	
S Lev: 300 & 400 Level Course Dept: ARCHITECTURE		ts Scar	Y	nis Leve our Depi		160 321 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	4 2.5	8 5.0	27 16.9	60 37.5	61 38.1	0	Class   Department   College   University	4.038 4.069 4.344	0.990 1.039 0.898 0.903	160 320 5212 25436
This instructor provided content and materials that were clear and well organized.	4 2.5	6 3.8	25 15.6	58 36.3	66 41.3	1	Class   Department   College   University	4.280	0.972 1.050 0.968 1.025	159 317 5205 25430
3. I understood how my grades were assigned in this course.	4 2.5	10 6.3	13 8.1	53 33.1	80 50.0	0.0	Class   Department   College   University	4.327	1.007 1.110 0.951 0.887	160 320 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	2	3 1.9	13 8.1	63 39.4	79 49.4	0.0	Class   Department   College   University	4.317	0.808 0.809 0.809 0.857	160 318 5208 25416
5. The instructor was available to assist students outside of class.	3 1.9	3 1.9	28 17.5	53 33.1	73 45.6	0	Class   Department   College   University	4.287	0.919 0.979 0.917 0.916	160 318 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	7 4.4	7 4.4	23 14.4	63 39.4	60 37.5	0.0	Class   Department   College   University	4.235	1.046 1.115 0.980 1.000	160 318 5207 25426
7. The instructor provided relevant feedback that helped me learn.	6 3.8	5 3.1	24 15.0	63 39.4	62 38.8	0	Class   Department   College   University	4.063 4.069 4.248 4.180	1.001 1.094 0.980 1.026	160 319 5204 25423
8. The instructor set and maintained high standards that students must meet.	5 3.1	8 5.0	19 11.9	54 33.8	74 46.3	0	Class   Department   College   University	4.323	1.023 1.012 0.865 0.861	160 317 5206 25420
9. The physical environment was conducive to learning.	3 1.9	6	18 11.3	49 30.6	83 51.9	1	Class   Department   College   University	4.255	0.941 1.110 0.995 1.018	159 317 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 600, 700 & 800 Level Dept: ARCHITECTURE		ets Scar	Y	his Leve our Dep		110 321 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation at							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	6 5.5	2	9 8.2	29 26.4	63 57.3	1	Class   Department   College   University	4.294 4.069 4.344	1.074 1.039 0.898 0.903	109 320 5212 25436
This instructor provided content and materials that were clear and well organized.	5 4.5	3 2.7	10 9.1	29 26.4	60 54.5	3 2.7	Class   Department   College   University	4.280	1.060 1.050 0.968 1.025	107 317 5205 25430
3. I understood how my grades were assigned in this course.	10 9.1	4 3.6	12 10.9	25 22.7	58 52.7	1	Class   Department   College   University	4.327	1.274 1.110 0.951 0.887	109 320 5208 25420
4. I met or exceeded the course objectives given for this course.	3 2.7	1	7 6.4	38 34.5	58 52.7	3 2.7	Class   Department   College   University	4.317	0.874 0.809 0.809 0.857	107 318 5208 25416
5. The instructor was available to assist students outside of class.	3 2.7	4 3.6	8 7.3	24 21.8	68 61.8	3 2.7	Class   Department   College   University	4.287	0.980 0.979 0.917 0.916	107 318 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	8 7.3	5 4.5	6 5.5	32 29.1	56 50.9	3 2.7	Class   Department   College   University	4.235	1.196 1.115 0.980 1.000	107 318 5207 25426
7. The instructor provided relevant feedback that helped me learn.	9 8.2	5 4.5	6 5.5	25 22.7	63 57.3	2	Class   Department   College   University	4.185 4.069 4.248 4.180	1.247 1.094 0.980 1.026	108 319 5204 25423
8. The instructor set and maintained high standards that students must meet.	6 5.5	2	9 8.2	32 29.1	57 51.8	4 3.6	Class   Department   College   University	4.323	1.076 1.012 0.865 0.861	106 317 5206 25420
9. The physical environment was conducive to learning.	12 10.9	5 4.5	13 11.8	23 20.9	55 50.0	2	Class   Department   College   University	4.255	1.353 1.110 0.995 1.018	108 317 5199 25389

Department Information		Number	of Stud	dents:			Resp	oonse Key	·:	
S_Lev: 100 & 200 Level Course Dept: ART		ts Scar	Y	his Leve our Depi		244 289 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	3	9 3.7	30 12.3	86 35.2	116 47.5	0	Class   Department   College   University	4.242 4.242 4.344	0.895 0.919 0.898 0.903	244 289 5212 25436
This instructor provided content and materials that were clear and well organized.	4 1.6	23 9.4	29 11.9	70 28.7	118 48.4	0.0	Class   Department   College   University	4.280	1.056 1.046 0.968 1.025	244 289 5205 25430
3. I understood how my grades were assigned in this course.	6 2.5	10 4.1	25 10.2	80 32.8	123 50.4	0.0	Class   Department   College   University	4.327	0.967 0.998 0.951 0.887	244 289 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	3 1.2	24 9.8	111 45.5	106 43.4	0.0	Class   Department   College   University	4.317	0.698 0.699 0.809 0.857	244 289 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	2	11 4.5	55 22.5	70 28.7	106 43.4	0	Class   Department   College   University	4.287	0.953 0.954 0.917 0.916	244 289 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	6 2.5	13 5.3	32 13.1	72 29.5	121 49.6	0.0	Class   Department   College   University	4.235	1.016 0.993 0.980 1.000	244 289 5207 25426
7. The instructor provided relevant feedback that helped me learn.	4 1.6	14 5.7	35 14.3	75 30.7	115 47.1	10.4	Class   Department   College   University	4.165 4.205 4.248 4.180	0.986 0.989 0.980 1.026	243 288 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	5 2.0	41 16.8	87 35.7	110 45.1	1 0.4	Class   Department   College   University	4.323	0.805 0.800 0.865 0.861	243 288 5206 25420
9. The physical environment was conducive to learning.	5 2.0	16 6.6	36 14.8	71 29.1	114 46.7	2	Class   Department   College   University	4.255	1.029 1.038 0.995 1.018	242 287 5199 25389

Department Information			of Stu	dents:			Resp	onse Key	/ <b>:</b>	
S_Lev: 300 & 400 Level Course Dept: ART  Frequencies (top row) and percent	# She	ets Scan	nned: Ti Yo Yo ) are p:	rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	y Agree . Agree . Weutral . Isagree . y Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	2 4.5	2 4.5	2 4.5	16 36.4	22 50.0	0.0	Class   Department   College   University	4.227 4.242 4.344	1.054 0.919 0.898 0.903	44 289 5212 25436
2. This instructor provided content and materials that were clear and well organized.	0	5 11.4	2 4.5	13 29.5	24 54.5	0.0	Class   Department   College   University	4.280	0.997 1.046 0.968 1.025	44 289 5205 25430
3. I understood how my grades were assigned in this course.	2 4.5	4 9.1	2 4.5	10 22.7	26 59.1	0	Class   Department   College   University	4.327	1.179 0.998 0.951 0.887	44 289 5208 25420
4. I met or exceeded the course objectives given for this course.	0	0.0	6 13.6	16 36.4	22 50.0	0.0	Class   Department   College   University	4.317	0.718 0.699 0.809 0.857	44 289 5208 25416
5. The instructor was available to assist students outside of class.	0.0	4 9.1	1 2.3	12 27.3	27 61.4	0.0	Class   Department   College   University	4.287	0.923 0.954 0.917 0.916	44 289 5204 25415
6. The instructor provided feedback to me in a timely manner.	1 2.3	0.0	3 6.8	12 27.3	28 63.6	0.0	Class   Department   College   University	4.235	0.821 0.993 0.980 1.000	44 289 5207 25426
7. The instructor provided relevant feedback that helped me learn.	2 4.5	1 2.3	1 2.3	12 27.3	28 63.6	0.0	Class   Department   College   University	4.248	0.998 0.989 0.980 1.026	44 288 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	2 4.5	2 4.5	19 43.2	21 47.7	0.0	Class   Department   College   University	4.323	0.776 0.800 0.865 0.861	44 288 5206 25420
9. The physical environment was conducive to learning.	2 4.5	2 4.5	2 4.5	10 22.7	28 63.6	0.0	Class   Department   College   University	4.255	1.080 1.038 0.995 1.018	44 287 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S_Lev: 600, 700 & 800 Level C Dept: ART		ts Scan	Y	our Dep	rel bt lege	1 289 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	0.0	0.0	0	1	0.0	Class   Department   College   University	5.000 4.242 4.344	0.919 0.898 0.903	1 289 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	0.0	100.0	0.0	Class   Department   College   University	5.000 4.152 4.280 4.229	1.046 0.968 1.025	1 289 5205 25430
<ol> <li>I understood how my grades were assigned in this course.</li> </ol>	0.0	0.0	0.0	100.0	0.0	0.0	Class   Department   College   University	4.327	0.998 0.951 0.887	1 289 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	0.0	100.0	0.0	0.0	Class   Department   College   University	4.317	0.699 0.809 0.857	1 289 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	0.0	1	0.0	Class   Department   College   University	4.287	0.954 0.917 0.916	1 289 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	0.0	0.0	0.0	0.0	100.0	0.0	Class   Department   College   University	4.235	0.993 0.980 1.000	1 289 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	100.0	0.0	0.0	Class   Department   College   University	4.248	0.989 0.980 1.026	1 288 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	0.0	1	0	Class   Department   College   University	4.323	0.800 0.865 0.861	1 288 5206 25420
9. The physical environment was conducive to learning.	0	0.0	0.0	0.0	1	0	Class   Department   College   University	4.255	1.038 0.995 1.018	1 287 5199 25389

Department Information		Number		dents:			Resp	oonse Key	:	
S_Lev: 100 & 200 Level Course: Dept: CRIMINAL JUSTICE	5		ned: T	his Leve our Dept		149 277 5248	A= N= D=		Agree . eutral . sagree .	(4) (3) (2)
Frequencies (top row) and percent: S.D. is the Standard Deviation and							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	2 1.3	6 4.0	46 30.9	95 63.8	0	Class   Department   College   University	4.570 4.563 4.344	0.639 0.602 0.898 0.903	149 277 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	3 2.0	11 7.4	40 26.8	95 63.8	0.0	Class   Department   College   University	4.280	0.722 0.668 0.968 1.025	149 277 5205 25430
<ol> <li>I understood how my grades were assigned in this course.</li> </ol>	0.0	0.7	7	44 29.5	97 65.1	0.0	Class   Department   College   University	4.327	0.615 0.638 0.951 0.887	149 277 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	1 0.7	3 2.0	20 13.4	53 35.6	72 48.3	0.0	Class   Department   College   University	4.317	0.824 0.800 0.809 0.857	149 277 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	2 1.3	5 3.4	15 10.1	40 26.8	85 57.0	2 1.3	Class   Department   College   University	4.287	0.900 0.842 0.917 0.916	147 274 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	7 4.7	20 13.4	44 29.5	78 52.3	0.0	Class   Department   College   University	4.235	0.874 0.788 0.980 1.000	149 277 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	3 2.0	6 4.0	17 11.4	44 29.5	79 53.0	0.0	Class   Department   College   University	4.248	0.958 0.853 0.980 1.026	149 275 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	3 2.0	13 8.7	48 32.2	85 57.0	0	Class   Department   College   University	4.323	0.739 0.684 0.865 0.861	149 277 5206 25420
9. The physical environment was conducive to learning.	2 1.3	7 4.7	12 8.1	35 23.5	93 62.4	0	Class   Department   College   University	4.255	0.923 0.881 0.995 1.018	149 277 5199 25389

Department Information			of Stu				Resp	onse Key	:	
S_Lev: 300 & 400 Level Course Dept: CRIMINAL JUSTICE	s		nned: Tl	nis Lev	el t lege	110 277 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	0.0	4 3.6	43 39.1	63 57.3	0	Class   Department   College   University	4.536 4.563 4.344	0.570 0.602 0.898 0.903	110 277 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	7 6.4	44 40.0	59 53.6	0	Class   Department   College   University	4.280	0.616 0.668 0.968 1.025	110 277 5205 25430
3. I understood how my grades were assigned in this course.	0.0	2	6 5.5	39 35.5	63 57.3	0	Class   Department   College   University	4.327	0.687 0.638 0.951 0.887	110 277 5208 25420
4. I met or exceeded the course objectives given for this course.	0	3 2.7	13 11.8	41 37.3	53 48.2	0	Class   Department   College   University	4.317	0.787 0.800 0.809 0.857	110 277 5208 25416
5. The instructor was available to assist students outside of class.	1	0.0	17 15.5	36 32.7	55 50.0	1	Class   Department   College   University	4.287	0.804 0.842 0.917 0.916	109 274 5204 25415
6. The instructor provided feedback to me in a timely manner.	0	1	10 9.1	46 41.8	53 48.2	0	Class   Department   College   University	4.235	0.689 0.788 0.980 1.000	110 277 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0	2	10 9.1	43 39.1	53 48.2	2	Class   Department   College   University	4.248	0.729 0.853 0.980 1.026	108 275 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	7 6.4	43 39.1	60 54.5	0	Class   Department   College   University	4.323	0.617 0.684 0.865 0.861	110 277 5206 25420
9. The physical environment was conducive to learning.	0	6 5.5	10 9.1	35 31.8	59 53.6	0	Class   Department   College   University	4.255	0.860 0.881 0.995 1.018	110 277 5199 25389

Department Information			of Stud	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 600, 700 & 800 Level ( Dept: CRIMINAL JUSTICE	# Sheets Scanned: This Level 18 N= Neutral Your Dept 277 D= Disagree Your College 5248 SD= Strongly Disagree ercents (bottom row) are provided to the right of each question.									
S.D. is the Standard Deviation ar	nd #R is	the Nu	umber o	f Valid	Respons	ses.				
Please rate the following:	SD ======	D 	N ======	A =====	SA ======	OMIT	AREA			
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	0.0	0.0	6 33.3	12 66.7	0.0	Class   Department   College   University	4.344	0.485 0.602 0.898 0.903	18 277 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	7 38.9	11 61.1	0.0	Class   Department   College   University	4.611 4.509 4.280 4.229	0.502 0.668 0.968 1.025	18 277 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	5 27.8	13 72.2	0.0	Class   Department   College   University	4.327	0.461 0.638 0.951 0.887	18 277 5208 25420
4. I met or exceeded the course objectives given for this course.	0	0.0	3 16.7	10 55.6	5 27.8	0.0	Class   Department   College   University	4.317	0.676 0.800 0.809 0.857	18 277 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	6 33.3	12 66.7	0.0	Class   Department   College   University	4.287	0.485 0.842 0.917 0.916	18 274 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	0.0	5 27.8	13 72.2	0.0	Class   Department   College   University	4.235	0.461 0.788 0.980 1.000	18 277 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	5 27.8	13 72.2	0.0	Class   Department   College   University	4.248	0.461 0.853 0.980 1.026	18 275 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	1 5.6	5 27.8	12 66.7	0.0	Class   Department   College   University	4.323	0.608 0.684 0.865 0.861	18 277 5206 25420
9. The physical environment was conducive to learning.	0	0.0	1 5.6	5 27.8	12 66.7	0.0	Class   Department   College   University	4.255	0.608 0.881 0.995 1.018	18 277 5199 25389

Department Information			of Stu				Resp	onse Key	·:	
S Lev: 100 & 200 Level Course Dept: COMMUNICATION	s		nned: Tl	nis Leve		669 837 5248	A= N= D=	N Di	Agree . Agree . Meutral . Sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	Α	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	19 2.8	35 5.2	60 9.0	256 38.3	299 44.7	0	Class   Department   College   University	4.167 4.196 4.344	0.987 0.975 0.898 0.903	669 836 5212 25436
This instructor provided content and materials that were clear and well organized.	20 3.0	35 5.2	73 10.9	256 38.3	284 42.5	1	Class   Department   College   University	4.280	1.000 1.018 0.968 1.025	668 833 5205 25430
3. I understood how my grades were assigned in this course.	30 4.5	43 6.4	64 9.6	248 37.1	283 42.3	1	Class   Department   College   University	4.327	1.086 1.052 0.951 0.887	668 835 5208 25420
4. I met or exceeded the course objectives given for this course.	16 2.4	24 3.6	67 10.0	266 39.8	296 44.2	0	Class   Department   College   University	4.317	0.929 0.905 0.809 0.857	669 836 5208 25416
5. The instructor was available to assist students outside of class.	31 4.6	33 4.9	111 16.6	212 31.7	282 42.2	0	Class   Department   College   University	4.287	1.097 1.056 0.917 0.916	669 837 5204 25415
6. The instructor provided feedback to me in a timely manner.	28 4.2	38 5.7	80 12.0	224 33.5	299 44.7	0	Class   Department   College   University	4.235	1.079 1.051 0.980 1.000	669 836 5207 25426
7. The instructor provided relevant feedback that helped me learn.	36 5.4	36 5.4	93 13.9	233 34.8	271 40.5	0	Class   Department   College   University	4.248	1.116 1.071 0.980 1.026	669 837 5204 25423
8. The instructor set and maintained high standards that students must meet.	23 3.4	40 6.0	114 17.0	221 33.0	271 40.5	0	Class   Department   College   University	4.323	1.061 1.020 0.865 0.861	669 837 5206 25420
9. The physical environment was conducive to learning.	31 4.6	36 5.4	88 13.2	229 34.2	285 42.6	0	Class   Department   College   University	4.255	1.091 1.058 0.995 1.018	669 835 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Course Dept: COMMUNICATION		ts Scar	Y	his Leve our Depi		136 837 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	3 2.2	6 4.4	16 11.8	50 36.8	60 44.1	1	Class   Department   College   University	4.170 4.196 4.344	0.958 0.975 0.898 0.903	135 836 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	7 5.1	8 5.9	19 14.0	44 32.4	55 40.4	3 2.2	Class   Department   College   University	4.280	1.131 1.018 0.968 1.025	133 833 5205 25430
3. I understood how my grades were assigned in this course.	3 2.2	5 3.7	9 6.6	54 39.7	64 47.1	1	Class   Department   College   University	4.327	0.908 1.052 0.951 0.887	135 835 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.7	2 1.5	15 11.0	63 46.3	54 39.7	10.7	Class   Department   College   University	4.317	0.765 0.905 0.809 0.857	135 836 5208 25416
<ol> <li>The instructor was available to assist students outside of class.</li> </ol>	0.7	3 2.2	16 11.8	48 35.3	68 50.0	0	Class   Department   College   University	4.287	0.823 1.056 0.917 0.916	136 837 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.7	9 6.6	12 8.8	41 30.1	72 52.9	0.7	Class   Department   College   University	4.289 4.153 4.235 4.205	0.937 1.051 0.980 1.000	135 836 5207 25426
7. The instructor provided relevant feedback that helped me learn.	1	5 3.7	14 10.3	55 40.4	61 44.9	0	Class   Department   College   University	4.248	0.841 1.071 0.980 1.026	136 837 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	5 3.7	12 8.8	58 42.6	61 44.9	0	Class   Department   College   University	4.323	0.778 1.020 0.865 0.861	136 837 5206 25420
9. The physical environment was conducive to learning.	2 1.5	5 3.7	16 11.8	51 37.5	61 44.9	1 0.7	Class   Department   College   University	4.255	0.901 1.058 0.995 1.018	135 835 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	·:			
Dept: COMMUNICATION  Frequencies (top row) and percen	S_Lev: 600, 700 & 800 Level Courses  Dept: COMMUNICATION  # Sheets Scanned: This Level Your Dept 8 Your College 52  Frequencies (top row) and percents (bottom row) are provided to the rig S.D. is the Standard Deviation and #R is the Number of Valid Responses.											
Please rate the following:	SD	D	N	 А	SA	ses.  OMIT	AREA	MEAN	S.D.	#R		
1. This instructor provided well-defined course objectives.	0	0 0.0	0 0.0	3 9.4	29 90.6	0 0.0	Class   Department   College   University	4.906 4.196 4.344	0.296 0.975 0.898 0.903	32 836 5212 25436		
This instructor provided content and materials that were clear and well organized.	0.0	1 3.1	1 3.1	6 18.8	24 75.0	0.0	Class   Department   College   University	4.280	0.701 1.018 0.968 1.025	32 833 5205 25430		
3. I understood how my grades were assigned in this course.	0.0	0.0	1 3.1	6 18.8	25 78.1	0.0	Class   Department   College   University	4.327	0.508 1.052 0.951 0.887	32 835 5208 25420		
4. I met or exceeded the course objectives given for this course.	0	2 6.3	3 9.4	5 15.6	22 68.8	0.0	Class   Department   College   University	4.317	0.915 0.905 0.809 0.857	32 836 5208 25416		
5. The instructor was available to assist students outside of class.	0	0.0	0.0	0.0	32 100.0	0.0	Class   Department   College   University	4.287	0.000 1.056 0.917 0.916	32 837 5204 25415		
6. The instructor provided feedback to me in a timely manner.	0	0.0	0.0	2 6.3	30 93.8	0.0	Class   Department   College   University	4.235	0.246 1.051 0.980 1.000	32 836 5207 25426		
7. The instructor provided relevant feedback that helped me learn.	0	0	0.0	4 12.5	28 87.5	0.0	Class   Department   College   University	4.248	0.336 1.071 0.980 1.026	32 837 5204 25423		
8. The instructor set and maintained high standards that students must meet.	0	1 3.1	0.0	5 15.6	26 81.3	0.0	Class   Department   College   University	4.323	0.622 1.020 0.865 0.861	32 837 5206 25420		
9. The physical environment was conducive to learning.	0	0	7 21.9	2 6.3	22 68.8	1 3.1	Class   Department   College   University	4.255	0.851 1.058 0.995 1.018	31 835 5199 25389		

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: EMERGENCY MANAGEMENT		ets Scar	Y	his Leve our Depi		66 136 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	3 4.5	20 30.3	39 59.1	4 6.1	Class   Department   College   University	4.581 4.492 4.344	0.588 0.842 0.898 0.903	62 128 5212 25436
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	1.5	3.0	3 4.5	15 22.7	41 62.1	4 6.1	Class   Department   College   University	4.280	0.864 0.919 0.968 1.025	62 128 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	4 6.1	15 22.7	42 63.6	5 7.6	Class   Department   College   University	4.327	0.610 0.721 0.951 0.887	61 127 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	6 9.1	22 33.3	34 51.5	4 6.1	Class   Department   College   University	4.317	0.670 0.828 0.809 0.857	62 128 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	8 12.1	16 24.2	38 57.6	4 6.1	Class   Department   College   University	4.287	0.718 0.783 0.917 0.916	62 128 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	0.0	1.5	5 7.6	19 28.8	37 56.1	4 6.1	Class   Department   College   University	4.235	0.718 0.774 0.980 1.000	62 128 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	2 3.0	6 9.1	21 31.8	33 50.0	4 6.1	Class   Department   College   University	4.371 4.453 4.248 4.180	0.794 0.812 0.980 1.026	62 128 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	2 3.0	4 6.1	22 33.3	34 51.5	4 6.1	Class   Department   College   University	4.323	0.759 0.763 0.865 0.861	62 128 5206 25420
9. The physical environment was conducive to learning.	2 3.0	2 3.0	6 9.1	13 19.7	39 59.1	4 6.1	Class   Department   College   University	4.255	1.012 1.062 0.995 1.018	62 128 5199 25389

Department Information			of Stu	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 300 & 400 Level Course Dept: EMERGENCY MANAGEMENT Frequencies (top row) and percent	# Shee	ets Scar	nned: Ti Ye Ye		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar							AREA	MEAN	S.D.	 #R
======================================		_								
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	2 2.9	4 5.7	2.9	15 21.4	43 61.4	4 5.7	Class   Department   College   University	4.344	1.022 0.842 0.898 0.903	66 128 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	1 1.4	4 5.7	5 7.1	17 24.3	39 55.7	4 5.7	Class   Department   College   University	4.280	0.969 0.919 0.968 1.025	66 128 5205 25430
3. I understood how my grades were assigned in this course.	1	1 1.4	4 5.7	20 28.6	40 57.1	4 5.7	Class   Department   College   University	4.327	0.808 0.721 0.951 0.887	66 127 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	1	3 4.3	10 14.3	27 38.6	25 35.7	4 5.7	Class   Department   College   University	4.317	0.924 0.828 0.809 0.857	66 128 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	2 2.9	0.0	3 4.3	15 21.4	46 65.7	4 5.7	Class   Department   College   University	4.287	0.844 0.783 0.917 0.916	66 128 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	11.4	11.4	5 7.1	16 22.9	43 61.4	4 5.7	Class   Department   College   University	4.235	0.827 0.774 0.980 1.000	66 128 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	1	2 2.9	2 2.9	17 24.3	44 62.9	4 5.7	Class   Department   College   University	4.248	0.827 0.812 0.980 1.026	66 128 5204 25423
8. The instructor set and maintained high standards that students must meet.	1 1.4	1 1.4	2.9	19 27.1	43 61.4	4 5.7	Class   Department   College   University	4.323	0.768 0.763 0.865 0.861	66 128 5206 25420
9. The physical environment was conducive to learning.	5 7.1	0.0	3 4.3	18 25.7	40 57.1	4 5.7	Class   Department   College   University	4.255	1.114 1.062 0.995 1.018	66 128 5199 25389

Department Information		Number	of Stu	idents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: ENGLISH		ets Sca	7	This Leve Your Dep	t	593 1143 5248	N= N= A=	N Di	Agree . Agree . Weutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation as							each question.			
Please rate the following:	SD	D	N	А	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	23 3.9	39 6.6	76 12.8	198 33.4	255 43.0	2	Class   Department   College   University	4.344	1.083 1.046 0.898 0.903	591 1140 5212 25436
This instructor provided content and materials that were clear and well organized.	34 5.7	48 8.1	79 13.3	189 31.9	240 40.5	3 0.5	Class   Department   College   University	3.937 4.064 4.280 4.229	1.176 1.148 0.968 1.025	590 1139 5205 25430
3. I understood how my grades were assigned in this course.	29 4.9	37 6.2	61 10.3	178 30.0	286 48.2	2	Class   Department   College   University	4.327	1.127 1.058 0.951 0.887	591 1139 5208 25420
4. I met or exceeded the course objectives given for this course.	10 1.7	11 1.9	92 15.5	241 40.6	237 40.0	2	Class   Department   College   University	4.317	0.872 0.842 0.809 0.857	591 1139 5208 25416
5. The instructor was available to assist students outside of class.	15 2.5	22 3.7	67 11.3	197 33.2	290 48.9	2	Class   Department   College   University	4.227 4.275 4.287 4.288	0.965 0.958 0.917 0.916	591 1140 5204 25415
6. The instructor provided feedback to me in a timely manner.	24 4.0	31 5.2	68 11.5	194 32.7	273 46.0	3 0.5	Class   Department   College   University	4.235	1.068 1.065 0.980 1.000	590 1138 5207 25426
7. The instructor provided relevant feedback that helped me learn.	28 4.7	35 5.9	56 9.4	181 30.5	291 49.1	2	Class   Department   College   University	4.248	1.111 1.120 0.980 1.026	591 1138 5204 25423
8. The instructor set and maintained high standards that students must meet.	19 3.2	24 4.0	93 15.7	217 36.6	238 40.1	2 0.3	Class   Department   College   University	4.323	1.004 0.961 0.865 0.861	591 1139 5206 25420
9. The physical environment was conducive to learning.	24 4.0	36 6.1	71 12.0	184 31.0	276 46.5	2	Class   Department   College   University	4.103 4.148 4.255 4.224	1.090 1.079 0.995 1.018	591 1139 5199 25389

Department Information		Number	of Stu	dents:			Response Key:				
S_Lev: 300 & 400 Level Course Dept: ENGLISH		ets Scar	Y		el t lege		A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)	
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.				
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R	
1. This instructor provided well-defined course objectives.	15 2.9	21 4.1	44 8.6	147 28.7	284 55.5	1	Class   Department   College   University	4.299 4.185 4.344	0.991 1.046 0.898 0.903	511 1140 5212 25436	
This instructor provided content and materials that were clear and well organized.	19 3.7	40 7.8	46 9.0	139 27.1	267 52.1	1 0.2	Class   Department   College   University	4.280	1.112 1.148 0.968 1.025	511 1139 5205 25430	
<ol> <li>I understood how my grades were assigned in this course.</li> </ol>	14 2.7	21 4.1	33 6.4	148 28.9	294 57.4	2 0.4	Class   Department   College   University	4.327	0.967 1.058 0.951 0.887	510 1139 5208 25420	
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	3 0.6	11 2.1	48 9.4	181 35.4	267 52.1	20.4	Class   Department   College   University	4.317	0.789 0.842 0.809 0.857	510 1139 5208 25416	
<ol><li>The instructor was available to assist students outside of class.</li></ol>	10 2.0	18 3.5	65 12.7	137 26.8	281 54.9	1 0.2	Class   Department   College   University	4.287	0.954 0.958 0.917 0.916	511 1140 5204 25415	
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	16 3.1	32 6.3	63 12.3	142 27.7	257 50.2	2 0.4	Class   Department   College   University	4.235	1.066 1.065 0.980 1.000	510 1138 5207 25426	
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	26 5.1	30 5.9	50 9.8	132 25.8	271 52.9	3 0.6	Class   Department   College   University	4.248	1.141 1.120 0.980 1.026	509 1138 5204 25423	
8. The instructor set and maintained high standards that students must meet.	8 1.6	15 2.9	39 7.6	161 31.4	287 56.1	20.4	Class   Department   College   University	4.323	0.869 0.961 0.865 0.861	510 1139 5206 25420	
9. The physical environment was conducive to learning.	18 3.5	17 3.3	86 16.8	119 23.2	270 52.7	2	Class   Department   College   University	4.255	1.056 1.079 0.995 1.018	510 1139 5199 25389	

Department Information		Number	of Stud	dents:			Resp	onse Key	:	
S_Lev: 600, 700 & 800 Level ( Dept: ENGLISH		ets Scai	Y	-	el t lege		A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation as							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	1 2.6	1 2.6	0.0	5 13.2	31 81.6	0.0	Class   Department   College   University	4.684 4.185 4.344	0.842 1.046 0.898 0.903	38 1140 5212 25436
This instructor provided content and materials that were clear and well organized.	1 2.6	0.0	3 7.9	2 5.3	32 84.2	0.0	Class   Department   College   University	4.280	0.842 1.148 0.968 1.025	38 1139 5205 25430
3. I understood how my grades were assigned in this course.	1 2.6	1 2.6	1 2.6	6 15.8	29 76.3	0	Class   Department   College   University	4.327	0.887 1.058 0.951 0.887	38 1139 5208 25420
4. I met or exceeded the course objectives given for this course.	1 2.6	0.0	2 5.3	8 21.1	27 71.1	0	Class   Department   College   University	4.317	0.826 0.842 0.809 0.857	38 1139 5208 25416
5. The instructor was available to assist students outside of class.	1 2.6	0.0	1 2.6	3 7.9	33 86.8	0	Class   Department   College   University	4.287	0.751 0.958 0.917 0.916	38 1140 5204 25415
6. The instructor provided feedback to me in a timely manner.	1 2.6	0.0	5 13.2	3 7.9	29 76.3	0	Class   Department   College   University	4.235	0.921 1.065 0.980 1.000	38 1138 5207 25426
7. The instructor provided relevant feedback that helped me learn.	1 2.6	0.0	3 7.9	3 7.9	31 81.6	0	Class   Department   College   University	4.248	0.847 1.120 0.980 1.026	38 1138 5204 25423
8. The instructor set and maintained high standards that students must meet.	2 5.3	0.0	4 10.5	2 5.3	30 78.9	0	Class   Department   College   University	4.323	1.059 0.961 0.865 0.861	38 1139 5206 25420
9. The physical environment was conducive to learning.	3 7.9	0.0	4 10.5	6 15.8	25 65.8	0	Class   Department   College   University	4.255	1.188 1.079 0.995 1.018	38 1139 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	<b>7:</b>	
S Lev: 100 & 200 Level Course Dept: ENVIRONMENTAL DESIGN		ets Scar	Y	our Dep		100 100 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	1	8.0	6.0	27 27.0	58 58.0	0	Class   Department   College   University	4.330 4.330 4.344	0.975 0.975 0.898 0.903	100 100 5212 25436
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	1.0	2 2.0	9 9.0	28 28.0	60 60.0	0.0	Class   Department   College   University	4.280	0.820 0.820 0.968 1.025	100 100 5205 25430
3. I understood how my grades were assigned in this course.	5 5.0	10 10.0	9 9.0	24 24.0	52 52.0	0.0	Class   Department   College   University	4.327	1.212 1.212 0.951 0.887	100 100 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	1	44.0	16 16.0	35 35.0	44 44.0	0	Class   Department   College   University	4.317	0.911 0.911 0.809 0.857	100 100 5208 25416
5. The instructor was available to assist students outside of class.	1	6 6.0	14 14.0	30 30.0	49 49.0	0	Class   Department   College   University	4.287	0.964 0.964 0.917 0.916	100 100 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	5 5.0	8 8.0	12 12.0	26 26.0	49 49.0	0.0	Class   Department   College   University	4.235	1.179 1.179 0.980 1.000	100 100 5207 25426
7. The instructor provided relevant feedback that helped me learn.	3 3.0	8.0	12 12.0	27 27.0	50 50.0	0	Class   Department   College   University	4.130 4.130 4.248 4.180	1.098 1.098 0.980 1.026	100 100 5204 25423
8. The instructor set and maintained high standards that students must meet.	1	1	5 5.0	30 30.0	63 63.0	0	Class   Department   College   University	4.323	0.731 0.731 0.865 0.861	100 100 5206 25420
9. The physical environment was conducive to learning.	2 2.0	8 8.0	17 17.0	21 21.0	52 52.0	0	Class   Department   College   University	4.255	1.089 1.089 0.995 1.018	100 100 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: FRENCH		ets Scar	Y	our Dep	el t lege	13 21 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	1 7.7	2 15.4	5 38.5	5 38.5	0	Class   Department   College   University	4.077 4.238 4.344	0.954 0.889 0.898 0.903	13 21 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	0.0	0.0	3 23.1	5 38.5	5 38.5	0.0	Class   Department   College   University	4.280	0.801 0.913 0.968 1.025	13 21 5205 25430
3. I understood how my grades were assigned in this course.	0.0	2 15.4	3 23.1	3 23.1	5 38.5	0.0	Class   Department   College   University	4.327	1.144 1.078 0.951 0.887	13 21 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	1 7.7	6 46.2	2 15.4	4 30.8	0.0	Class   Department   College   University	4.317	1.032 1.014 0.809 0.857	13 21 5208 25416
5. The instructor was available to assist students outside of class.	0.0	2 15.4	2 15.4	30.8	5 38.5	0	Class   Department   College   University	4.287	1.115 1.014 0.917 0.916	13 21 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	1 7.7	7.7	3 23.1	4 30.8	4 30.8	0.0	Class   Department   College   University	4.235	1.251 1.161 0.980 1.000	13 21 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0		2 15.4	4 30.8	5 38.5	1 7.7	Class   Department   College   University	4.248	0.996 0.933 0.980 1.026	12 20 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	2 15.4	3 23.1	8 61.5	0	Class   Department   College   University	4.323	0.776 0.680 0.865 0.861	13 21 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	3 23.1	3 23.1	6 46.2	1 7.7	Class   Department   College   University	4.255	0.866 0.813 0.995 1.018	12 20 5199 25389

Department Information			of Stu	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 300 & 400 Level Course Dept: FRENCH Frequencies (top row) and percent	# She	ets Sca tom row	nned: T Y Y ) are p	rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar Please rate the following:	nd #R i  SD	s the N  D	umber o  N	f Valid  A	Respons SA	Ses.  OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0	0.0	1 12.5	2 25.0	5 62.5	0.0	Class   Department   College   University	4.500 4.238 4.344	0.756 0.889 0.898 0.903	8 21 5212 25436
2. This instructor provided content and materials that were clear and well organized.	0.0	1 12.5	0.0	0.0	7 87.5	0	Class   Department   College   University	4.280	1.061 0.913 0.968 1.025	8 21 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	1 12.5	0.0	7 87.5	0.0	Class   Department   College   University	4.327	0.707 1.078 0.951 0.887	8 21 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	1 12.5	0.0	4 50.0	3 37.5	0.0	Class   Department   College   University	4.317	0.991 1.014 0.809 0.857	8 21 5208 25416
<ol> <li>The instructor was available to assist students outside of class.</li> </ol>	0.0	0.0	1 12.5	2 25.0	5 62.5	0.0	Class   Department   College   University	4.287	0.756 1.014 0.917 0.916	8 21 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	1 12.5	1 12.5	6 75.0	0.0	Class   Department   College   University	4.235	0.744 1.161 0.980 1.000	8 21 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0	0.0	1 12.5	0.0	7 87.5	0	Class   Department   College   University	4.248	0.707 0.933 0.980 1.026	8 20 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	4 50.0	4 50.0	0	Class   Department   College   University	4.323	0.535 0.680 0.865 0.861	8 21 5206 25420
9. The physical environment was conducive to learning.	0	0.0	1 12.5	2 25.0	5 62.5	0.0	Class   Department   College   University	4.255	0.756 0.813 0.995 1.018	8 20 5199 25389

Department Information			of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: GERMAN  Frequencies (top row) and percent	# Shee	ets Scan	nned: Ti Yo Yo ) are p:	our Dep our Col rovided		right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Yeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0	0	3 15.8	8 42.1	8 42.1	0 0.0	Class   Department   College   University	4.263 4.263 4.344	0.733 0.733 0.898 0.903	19 19 5212 25436
2. This instructor provided content and materials that were clear and well organized.	0.0	0.0	1 5.3	10 52.6	8 42.1	0	Class   Department   College   University	4.280	0.597 0.597 0.968 1.025	19 19 5205 25430
3. I understood how my grades were assigned in this course.	0.0	2 10.5	3 15.8	9 47.4	5 26.3	0.0	Class   Department   College   University	4.327	0.937 0.937 0.951 0.887	19 19 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	2 10.5	11 57.9	6 31.6	0.0	Class   Department   College   University	4.317	0.631 0.631 0.809 0.857	19 19 5208 25416
5. The instructor was available to assist students outside of class.	0.0	1 5.3	8 42.1	3 15.8	7 36.8	0.0	Class   Department   College   University	4.287	1.015 1.015 0.917 0.916	19 19 5204 25415
6. The instructor provided feedback to me in a timely manner.	3 15.8	3 15.8	3 15.8	4 21.1	6 31.6	0.0	Class   Department   College   University	4.235	1.499 1.499 0.980 1.000	19 19 5207 25426
7. The instructor provided relevant feedback that helped me learn.	2 10.5	0.0	1 5.3	9 47.4	7 36.8	0	Class   Department   College   University	4.248	1.202 1.202 0.980 1.026	19 19 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	1 5.3	2 10.5	7 36.8	9 47.4	0.0	Class   Department   College   University	4.323	0.872 0.872 0.865 0.861	19 19 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	4 21.1	9 47.4	6 31.6	0	Class   Department   College   University	4.255	0.737 0.737 0.995 1.018	19 19 5199 25389

Department Information			of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: HISTORY Frequencies (top row) and percent	s # Shee s (bott	ets Scar	nned: Ti Yo Yo ) are p	our Dep our Col rovided		right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Veutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation an Please rate the following:	d #R is  SD	the Ni D	umber o	f Valid  A	Respons	omit	AREA	MEAN	S.D.	#R
This instructor provided well-defined course objectives.	0	2 1.5	5	60 44.8	62 46.3	5 3.7	Class   Department   College   University	4.411 4.434 4.344	0.645 0.673 0.898 0.903	129 205 5212 25436
This instructor provided content and materials that were clear and well organized.	2 1.5	1	14 10.4	53 39.6	59 44.0	5 3.7	Class   Department   College   University	4.280	0.812 0.871 0.968 1.025	129 205 5205 25430
3. I understood how my grades were assigned in this course.	0.0	2 1.5	16 11.9	44 32.8	66 49.3	6 4.5	Class   Department   College   University	4.327	0.761 0.820 0.951 0.887	128 204 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	5 3.7	31 23.1	50 37.3	43 32.1	5 3.7	Class   Department   College   University	4.317	0.857 0.805 0.809 0.857	129 205 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	4 3.0	16 11.9	63 47.0	46 34.3	5 3.7	Class   Department   College   University	4.287	0.762 0.741 0.917 0.916	129 205 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	0.7	6 4.5	12 9.0	61 45.5	49 36.6	5 3.7	Class   Department   College   University	4.235	0.840 0.908 0.980 1.000	129 205 5207 25426
7. The instructor provided relevant feedback that helped me learn.	2 1.5	2 1.5	14 10.4	59 44.0	52 38.8	5 3.7	Class   Department   College   University	4.248	0.819 0.811 0.980 1.026	129 205 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	9 6.7	64 47.8	56 41.8	5 3.7	Class   Department   College   University	4.323	0.612 0.621 0.865 0.861	129 205 5206 25420
9. The physical environment was conducive to learning.	1	0	15 11.2	56 41.8	57 42.5	5 3.7	Class   Department   College   University	4.255	0.735 0.822 0.995 1.018	129 204 5199 25389

Department Information			of Stu	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 300 & 400 Level Course Dept: HISTORY	s # Shee	ets Scar	nned: Ti Y		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Weutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	2.9	3 4.3	25 35.7	40 57.1	0	Class   Department   College   University	4.344	0.717 0.673 0.898 0.903	70 205 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	1.4	5 7.1	6 8.6	22 31.4	36 51.4	0.0	Class   Department   College   University	4.280	0.984 0.871 0.968 1.025	70 205 5205 25430
3. I understood how my grades were assigned in this course.	0.0	6 8.6	4 5.7	16 22.9	44 62.9	0.0	Class   Department   College   University	4.327	0.939 0.820 0.951 0.887	70 204 5208 25420
4. I met or exceeded the course objectives given for this course.	0	0.0	10 14.3	33 47.1	27 38.6	0.0	Class   Department   College   University	4.317	0.690 0.805 0.809 0.857	70 205 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	4 5.7	16 22.9	50 71.4	0.0	Class   Department   College   University	4.287	0.587 0.741 0.917 0.916	70 205 5204 25415
6. The instructor provided feedback to me in a timely manner.	2.9	3 4.3	11 15.7	18 25.7	36 51.4	0	Class   Department   College   University	4.235	1.040 0.908 0.980 1.000	70 205 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	2 2.9	6 8.6	18 25.7	44 62.9	0.0	Class   Department   College   University	4.248	0.775 0.811 0.980 1.026	70 205 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	5 7.1	19 27.1	46 65.7	0.0	Class   Department   College   University	4.323	0.625 0.621 0.865 0.861	70 205 5206 25420
9. The physical environment was conducive to learning.	0.0	5 7.1	10 14.3	13 18.6	41 58.6	11.4	Class   Department   College   University	4.255	0.975 0.822 0.995 1.018	69 204 5199 25389

Department Information			of Stud	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 600, 700 & 800 Level C Dept: HISTORY		6 210 5248	A= N= D=	N Di	Agree . Agree . Neutral . Sagree . Disagree	(4) (3) (2)				
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	1 16.7	1 16.7	4 66.7	0	Class   Department   College   University	4.500 4.434 4.344	0.837 0.673 0.898 0.903	6 205 5212 25436
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	0.0	0.0	1 16.7	2 33.3	3 50.0	0.0	Class   Department   College   University	4.280	0.816 0.871 0.968 1.025	6 205 5205 25430
<ol> <li>I understood how my grades were assigned in this course.</li> </ol>	0.0	0.0	0.0	1 16.7	5 83.3	0.0	Class   Department   College   University	4.327	0.408 0.820 0.951 0.887	6 204 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	1 16.7	3 50.0	2 33.3	0.0	Class   Department   College   University	4.317	0.753 0.805 0.809 0.857	6 205 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	0.0	1 16.7	2 33.3	3 50.0	0.0	Class   Department   College   University	4.287	0.816 0.741 0.917 0.916	6 205 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	1 16.7	2 33.3	3 50.0	0.0	Class   Department   College   University	4.235	0.816 0.908 0.980 1.000	6 205 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	0.0	0.0	1 16.7	2 33.3	3 50.0	0.0	Class   Department   College   University	4.248	0.816 0.811 0.980 1.026	6 205 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	3 50.0	3 50.0	0	Class   Department   College   University	4.323	0.548 0.621 0.865 0.861	6 205 5206 25420
9. The physical environment was conducive to learning.	0	0.0	1 16.7	2 33.3	3 50.0	0	Class   Department   College   University	4.255	0.816 0.822 0.995 1.018	6 204 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: INTERNATIONAL STUDIES		ets Scar	Y	his Leve our Dep		13 13 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	3 23.1	2 15.4	8 61.5	0	Class   Department   College   University	4.385 4.385 4.344	0.870 0.870 0.898 0.903	13 13 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	0.0	0.0	7.7	2 15.4	10 76.9	0	Class   Department   College   University	4.280	0.630 0.630 0.968 1.025	13 13 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	2 15.4	2 15.4	9 69.2	0.0	Class   Department   College   University	4.327	0.776 0.776 0.951 0.887	13 13 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	2 15.4	2 15.4	9 69.2	0.0	Class   Department   College   University	4.317	0.776 0.776 0.809 0.857	13 13 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	1 7.7	2 15.4	2 15.4	8 61.5	0.0	Class   Department   College   University	4.287	1.032 1.032 0.917 0.916	13 13 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	0.0	0.0	2 15.4	7.7	10 76.9	0.0	Class   Department   College   University	4.235	0.768 0.768 0.980 1.000	13 13 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	2 15.4	3 23.1	8 61.5	0.0	Class   Department   College   University	4.248	0.776 0.776 0.980 1.026	13 13 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	2 15.4	3 23.1	8 61.5	0	Class   Department   College   University	4.323	0.776 0.776 0.865 0.861	13 13 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	3 23.1	3 23.1	7 53.8	0	Class   Department   College   University	4.255	0.855 0.855 0.995 1.018	13 13 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S Lev: 100 & 200 Level Course Dept: LANDSCAPE ARCHITECTURE		ets Scar	Y	our Dep	el t lege	10 61 5248	A= N= D=	N Di	Agree . Agree . Jeutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	0.0	30.0	20.0	5 50.0	0.0	Class   Department   College   University	4.344	0.919 1.127 0.898 0.903	10 61 5212 25436
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	0.0	10.0	20.0	10.0	6 60.0	0.0	Class   Department   College   University	4.280	1.135 1.196 0.968 1.025	10 61 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	1 10.0	40.0	5 50.0	0.0	Class   Department   College   University	4.327	0.699 1.220 0.951 0.887	10 61 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	0.0	20.0	80.0	0	Class   Department   College   University	4.317	0.422 0.824 0.809 0.857	10 61 5208 25416
5. The instructor was available to assist students outside of class.	0.0	1 10.0	3 30.0	2 20.0	4 40.0	0	Class   Department   College   University	4.287	1.101 1.008 0.917 0.916	10 60 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.0	0.0	20.0	5 50.0	3 30.0	0	Class   Department   College   University	4.100 4.295 4.235 4.205	0.738 0.972 0.980 1.000	10 61 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	10.0	1	5 50.0	30.0	0	Class   Department   College   University	4.248	0.943 0.913 0.980 1.026	10 61 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	3 30.0	7 70.0	0	Class   Department   College   University	4.323	0.483 0.976 0.865 0.861	10 61 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	1	3 30.0	60.0	0	Class   Department   College   University	4.255	0.707 0.988 0.995 1.018	10 61 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Cours Dept: LANDSCAPE ARCHITECTUR Frequencies (top row) and percer	# Shee		Y		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation a							AREA	MEAN	S.D.	 #R
This instructor provided     well-defined course     objectives.	3 12.0	1 4.0	1 4.0	4 16.0	16 64.0	0.0	Class   Department   College   University	4.160 4.279 4.344	1.405 1.127 0.898 0.903	25 61 5212 25436
This instructor provided content and materials that were clear and well organized.	2 8.0	1 4.0	3	2 8.0	17 68.0	0	Class   Department   College   University	4.240 4.262 4.280 4.229	1.300 1.196 0.968 1.025	25 61 5205 25430
3. I understood how my grades were assigned in this course.	3 12.0	1 4.0	1 4.0	3 12.0	17 68.0	0.0	Class   Department   College   University	4.200 4.246 4.327 4.395	1.414 1.220 0.951 0.887	25 61 5208 25420
4. I met or exceeded the course objectives given for this course.	4.0	0.0	16.0	5 20.0	15 60.0	0.0	Class   Department   College   University	4.317	1.030 0.824 0.809 0.857	25 61 5208 25416
5. The instructor was available to assist students outside of class.	4.0	0.0	2 8.0	5 20.0	17 68.0	0.0	Class   Department   College   University	4.480 4.367 4.287 4.288	0.963 1.008 0.917 0.916	25 60 5204 25415
6. The instructor provided feedback to me in a timely manner.	14.0	0.0	14.0	9 36.0	14 56.0	0.0	Class   Department   College   University	4.400 4.295 4.235 4.205	0.913 0.972 0.980 1.000	25 61 5207 25426
7. The instructor provided relevant feedback that helped me learn.	14.0	0.0	2 8.0	7 28.0	15 60.0	0.0	Class   Department   College   University	4.400 4.361 4.248 4.180	0.957 0.913 0.980 1.026	25 61 5204 25423
8. The instructor set and maintained high standards that students must meet.	2 8.0	1 4.0	0.0	3 12.0	19 76.0	0.0	Class   Department   College   University	4.323	1.227 0.976 0.865 0.861	25 61 5206 25420
9. The physical environment was conducive to learning.	1 4.0	0.0	4 16.0	4	16 64.0	0	Class   Department   College   University	4.360 4.393 4.255 4.224	1.036 0.988 0.995 1.018	25 61 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S_Lev: 600, 700 & 800 Level ( Dept: LANDSCAPE ARCHITECTURE	2	ets Scai	Y	our Dep		26 61 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation ar							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	2 7.7	3.8	7 26.9	16 61.5	0.0	Class   Department   College   University	4.423 4.279 4.344	0.902 1.127 0.898 0.903	26 61 5212 25436
This instructor provided content and materials that were clear and well organized.	2 7.7	0.0	2 7.7	6 23.1	16 61.5	0.0	Class   Department   College   University	4.280	1.158 1.196 0.968 1.025	26 61 5205 25430
3. I understood how my grades were assigned in this course.	2 7.7	1 3.8	1 3.8	7 26.9	15 57.7	0	Class   Department   College   University	4.327	1.210 1.220 0.951 0.887	26 61 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	3 11.5	11 42.3	12 46.2	0	Class   Department   College   University	4.317	0.689 0.824 0.809 0.857	26 61 5208 25416
5. The instructor was available to assist students outside of class.	0.0	3 11.5	0.0	5 19.2	17 65.4	1 3.8	Class   Department   College   University	4.287	1.003 1.008 0.917 0.916	25 60 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	1 3.8	3.8	4 15.4	4 15.4	16 61.5	0.0	Class   Department   College   University	4.235	1.116 0.972 0.980 1.000	26 61 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	3.8	3 11.5	5 19.2	17 65.4	0 0 . 0	Class   Department   College   University	4.248	0.859 0.913 0.980 1.026	26 61 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	1 3.8	3 11.5	7 26.9	15 57.7	0	Class   Department   College   University	4.323	0.852 0.976 0.865 0.861	26 61 5206 25420
9. The physical environment was conducive to learning.	0.0	3 11.5	2 7.7	3 11.5	18 69.2	0	Class   Department   College   University	4.255	1.061 0.988 0.995 1.018	26 61 5199 25389

Department Information			of Stud	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 100 & 200 Level Course Dept: MODERN LANGUAGES	# Shee	ets Scar	nned: Tl Yo Yo	our Dep our Col	el t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Weutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation ar							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	0.0	0.0	0	3	0.0	Class   Department   College   University	4.344	0.000 1.082 0.898 0.903	3 23 5212 25436
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	0.0	0.0	0.0	0.0	3	0.0	Class   Department   College   University	4.280	0.000 1.071 0.968 1.025	3 23 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	1 33.3	1 33.3	1 33.3	0.0	Class   Department   College   University	4.327	1.000 0.593 0.951 0.887	3 23 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	0.0	2 66.7	1 33.3	0.0	Class   Department   College   University	4.317	0.577 0.926 0.809 0.857	3 23 5208 25416
<ol> <li>The instructor was available to assist students outside of class.</li> </ol>	0.0	0.0	0.0	1 33.3	2 66.7	0.0	Class   Department   College   University	4.287	0.577 0.941 0.917 0.916	3 23 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	0.0	0.0	0.0	1 33.3	2 66.7	0.0	Class   Department   College   University	4.235	0.577 0.728 0.980 1.000	3 23 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	1 33.3	2 66.7	0.0	Class   Department   College   University	4.248	0.577 0.730 0.980 1.026	3 23 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	1 33.3	2 66.7	0.0	Class   Department   College   University	4.323	0.577 1.096 0.865 0.861	3 23 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	0.0	2 66.7	1 33.3	0.0	Class   Department   College   University	4.255	0.577 1.185 0.995 1.018	3 23 5199 25389

Department Information		Number		dents:			Resp	onse Key	<b>/:</b>	
S_Lev: 300 & 400 Level Course Dept: MODERN LANGUAGES	# She	ets Scar	nned: Ti Yo Yo	our Dep our Col	rel t lege		A= N= D= SD=	N Di Strongly	/ Agree . Agree . Neutral . Isagree . / Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation ar							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	0.0	0.0	1 12.5	7 87.5	0.0	Class   Department   College   University	4.875 4.478 4.344	0.354 1.082 0.898 0.903	8 23 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	0.0	1 12.5	0.0	1 12.5	6 75.0	0.0	Class   Department   College   University	4.280	1.069 1.071 0.968 1.025	8 23 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	2 25.0	6 75.0	0.0	Class   Department   College   University	4.327	0.463 0.593 0.951 0.887	8 23 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	0.0	2 25.0	6 75.0	0.0	Class   Department   College   University	4.317	0.463 0.926 0.809 0.857	8 23 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	0.0	8	0.0	Class   Department   College   University	4.287	0.000 0.941 0.917 0.916	8 23 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.0	0.0	0.0	1 12.5	7 87.5	0.0	Class   Department   College   University	4.235	0.354 0.728 0.980 1.000	8 23 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	0.0	0.0	0.0	2 25.0	6 75.0	0.0	Class   Department   College   University	4.248	0.463 0.730 0.980 1.026	8 23 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	2 25.0	0.0	6 75.0	0.0	Class   Department   College   University	4.323	0.926 1.096 0.865 0.861	8 23 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	1 12.5	0.0	7 87.5	0.0	Class   Department   College   University	4.255	0.707 1.185 0.995 1.018	8 23 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 600, 700 & 800 Level Dept: MODERN LANGUAGES		ets Scan	Y	our Dep		13 24 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagre	(4)(3)(2)
Frequencies (top row) and percen S.D. is the Standard Deviation a							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	7.7	7.7	1 7.7	2 15.4	7 53.8	1 7.7	Class   Department   College   University	4.344	1.379 1.082 0.898 0.903	12 23 5212 25436
2. This instructor provided content and materials that were clear and well organized.	0.0	2 15.4	7.7	3 23.1	6 46.2	1 7.7	Class   Department   College   University	4.280	1.165 1.071 0.968 1.025	12 23 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	6 46.2	6 46.2	1 7.7	Class   Department   College   University	4.327	0.522 0.593 0.951 0.887	12 23 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	2 15.4	1 7.7	4 30.8	5 38.5	1 7.7	Class   Department   College   University	4.317	1.128 0.926 0.809 0.857	12 23 5208 25416
5. The instructor was available to assist students outside of class.	7.7	0.0	1 7.7	2 15.4	8 61.5	1 7.7	Class   Department   College   University	4.287	1.231 0.941 0.917 0.916	12 23 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.0	7.7	0.0	5 38.5	6 46.2	1 7.7	Class   Department   College   University	4.235	0.888 0.728 0.980 1.000	12 23 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	7.7	0.0	5 38.5	6 46.2	1 7.7	Class   Department   College   University	4.248	0.888 0.730 0.980 1.026	12 23 5204 25423
8. The instructor set and maintained high standards that students must meet.	1 7.7	7.7	0.0	5 38.5	5 38.5	1 7.7	Class   Department   College   University	4.323	1.279 1.096 0.865 0.861	12 23 5206 25420
9. The physical environment was conducive to learning.	2 15.4	0.0	0.0	4 30.8	6 46.2	1 7.7	Class   Department   College   University	4.255	1.477 1.185 0.995 1.018	12 23 5199 25389

Department Information			of Stu				Resp	oonse Key	:	
S_Lev: 100 & 200 Level Course Dept: MUSIC	S		nned: Ti	his Leve		471 708 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	Α	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	4	12 2.5	48 10.2	133 28.2	273 58.0	1 0.2	Class   Department   College   University	4.402 4.436 4.344	0.838 0.790 0.898 0.903	470 704 5212 25436
This instructor provided content and materials that were clear and well organized.	5 1.1	12 2.5	38 8.1	147 31.2	268 56.9	1	Class   Department   College   University	4.280	0.828 0.826 0.968 1.025	470 704 5205 25430
3. I understood how my grades were assigned in this course.	4	18 3.8	38 8.1	125 26.5	285 60.5	1 0.2	Class   Department   College   University	4.327	0.860 0.888 0.951 0.887	470 704 5208 25420
I met or exceeded the course objectives given for this course.	3 0.6	2	26 5.5	161 34.2	277 58.8	2	Class   Department   College   University	4.317	0.681 0.681 0.809 0.857	469 703 5208 25416
5. The instructor was available to assist students outside of class.	6 1.3	9	74 15.7	139 29.5	242 51.4	1 0.2	Class   Department   College   University	4.287	0.887 0.853 0.917 0.916	470 703 5204 25415
6. The instructor provided feedback to me in a timely manner.	6 1.3	12 2.5	60 12.7	137 29.1	255 54.1	1 0.2	Class   Department   College   University	4.235	0.885 0.882 0.980 1.000	470 704 5207 25426
7. The instructor provided relevant feedback that helped me learn.	5 1.1	14 3.0	54 11.5	146 31.0	251 53.3	1 0.2	Class   Department   College   University	4.248	0.871 0.858 0.980 1.026	470 704 5204 25423
8. The instructor set and maintained high standards that students must meet.	6 1.3	5 1.1	43 9.1	145 30.8	271 57.5	1 0.2	Class   Department   College   University	4.323	0.804 0.752 0.865 0.861	470 703 5206 25420
9. The physical environment was conducive to learning.	11 2.3	14 3.0	66 14.0	120 25.5	258 54.8	2	Class   Department   College   University	4.255	0.972 0.940 0.995 1.018	469 701 5199 25389

Department Information		Number		dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 300 & 400 Level Course Dept: MUSIC Frequencies (top row) and percent	# Shee	ets Scar	nned: Tl Yo Yo are p:	rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation an Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	5 2.8	9 5.1	70 39.3	91 51.1	3 1.7	Class   Department   College   University	4.411 4.436 4.344	0.721 0.790 0.898 0.903	175 704 5212 25436
This instructor provided content and materials that were clear and well organized.	2 1.1	7 3.9	11 6.2	66 37.1	89 50.0	3 1.7	Class   Department   College   University	4.280	0.854 0.826 0.968 1.025	175 704 5205 25430
3. I understood how my grades were assigned in this course.	3 1.7	13 7.3	17 9.6	62 34.8	80 44.9	3 1.7	Class   Department   College   University	4.327	0.993 0.888 0.951 0.887	175 704 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	4 2.2	13 7.3	71 39.9	87 48.9	3 1.7	Class   Department   College   University	4.317	0.724 0.681 0.809 0.857	175 703 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	5 2.8	25 14.0	59 33.1	85 47.8	4 2.2	Class   Department   College   University	4.287	0.818 0.853 0.917 0.916	174 703 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	2 1.1	6 3.4	17 9.6	60 33.7	90 50.6	3 1.7	Class   Department   College   University	4.235	0.870 0.882 0.980 1.000	175 704 5207 25426
7. The instructor provided relevant feedback that helped me learn.	2	8 4.5	10 5.6	65 36.5	90 50.6	3 1.7	Class   Department   College   University	4.248	0.867 0.858 0.980 1.026	175 704 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	2	7	69 39.0	96 54.2	3 1.7	Class   Department   College   University	4.323	0.634 0.752 0.865 0.861	174 703 5206 25420
9. The physical environment was conducive to learning.	6 3.4	2 1.1	12 6.8	65 36.7	89 50.3	3 1.7	Class   Department   College   University	4.255	0.917 0.940 0.995 1.018	174 701 5199 25389

Department Information			of Stud	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 600, 700 & 800 Level C Dept: MUSIC	ourses # Shee	ts Scai	nned: Tl Yo Yo	our Col	t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Weutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R ======
This instructor provided     well-defined course     objectives.	0.0	0.0	1.7	11 18.6	47 79.7	0.0	Class   Department   College   University	4.344	0.457 0.790 0.898 0.903	59 704 5212 25436
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	0.0	1.7	4 6.8	9 15.3	45 76.3	0.0	Class   Department   College   University	4.280	0.685 0.826 0.968 1.025	59 704 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	4 6.8	6 10.2	49 83.1	0.0	Class   Department   College   University	4.327	0.567 0.888 0.951 0.887	59 704 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	0.0	15 25.4	44 74.6	0.0	Class   Department   College   University	4.317	0.439 0.681 0.809 0.857	59 703 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	1	10 16.9	48 81.4	0.0	Class   Department   College   University	4.287	0.446 0.853 0.917 0.916	59 703 5204 25415
6. The instructor provided feedback to me in a timely manner.	1.7	1.7	6 10.2	6 10.2	45 76.3	0.0	Class   Department   College   University	4.235	0.875 0.882 0.980 1.000	59 704 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	0.0	1.7	2 3.4	7 11.9	49 83.1	0.0	Class   Department   College   University	4.248	0.597 0.858 0.980 1.026	59 704 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	1 1.7	1 1.7	9 15.3	48 81.4	0.0	Class   Department   College   University	4.323	0.567 0.752 0.865 0.861	59 703 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	3 5.1	4 6.8	51 86.4	1 1.7	Class   Department   College   University	4.255	0.500 0.940 0.995 1.018	58 701 5199 25389

Response Key:

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 05JUL23 Using Data from Fall 2022

Number of Students:

Department Information

Department Information		Number	OI Stu	dents:			Resi	onse kej	/:	
S_Lev: 100 & 200 Level Course: Dept: PHILOSOPHY	# Shee		Y	his Leve our Dept	Lege	94 102 5248	A= N= D= SD=	N Di Strongly	Agree . Agree . Neutral . Isagree .  Disagree	(4) (3) (2)
Frequencies (top row) and percent: S.D. is the Standard Deviation and							each question			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	0.0	7	40 42.6	42 44.7	5 5.3	Class   Department   College   University	4.393 4.423 4.344	0.633 0.626 0.898 0.903	89 97 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	2 2.1	7 7.4	34 36.2	46 48.9	5 5.3	Class   Department   College   University	4.280	0.733 0.719 0.968 1.025	89 97 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	4 4.3	29 30.9	56 59.6	5 5.3	Class   Department   College   University	4.327	0.580 0.571 0.951 0.887	89 97 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	2 2.1	18 19.1	42 44.7	27 28.7	5 5.3	Class   Department   College   University	4.317	0.774 0.770 0.809 0.857	89 97 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	1 1.1	12 12.8	37 39.4	39 41.5	5 5.3	Class   Department   College   University	4.287	0.738 0.730 0.917 0.916	89 97 5204 25415
<ol><li>The instructor provided feedback to me in a timely manner.</li></ol>	0.0	2 2.1	11 11.7	32 34.0	44 46.8	5 5.3	Class   Department   College   University	4.235	0.780 0.762 0.980 1.000	89 97 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	0.0	5 5.3	8 8.5	41 43.6	34 36.2	6 6.4	Class   Department   College   University	4.248	0.824 0.816 0.980 1.026	88 96 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	12 12.8	43 45.7	34 36.2	5 5.3	Class   Department   College   University	4.323	0.679 0.681 0.865 0.861	89 97 5206 25420
9. The physical environment was conducive to learning.	0.0	5 5.3	14 14.9	24 25.5	46 48.9	5 5.3	Class   Department   College   University	4.255	0.920 0.910 0.995 1.018	89 97 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Course Dept: PHILOSOPHY  Frequencies (top row) and percent	# Shee		Yo		t lege		A= N= D= SD=	N Di Strongly	Agree . Agree . Weutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation ar Please rate the following:	d #R is  SD	the Nu D	umber o:  N	f Valid  A	Respons  SA	Ses.  OMIT	 AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	0.0	2 25.0	6 75.0	0.0	Class   Department   College   University	4.750 4.423 4.344	0.463 0.626 0.898 0.903	8 97 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	2 25.0	6 75.0	0.0	Class   Department   College   University	4.280	0.463 0.719 0.968 1.025	8 97 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	2 25.0	6 75.0	0.0	Class   Department   College   University	4.327	0.463 0.571 0.951 0.887	8 97 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	3 37.5	5 62.5	0.0	Class   Department   College   University	4.317	0.518 0.770 0.809 0.857	8 97 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	2 25.0	6 75.0	0.0	Class   Department   College   University	4.287	0.463 0.730 0.917 0.916	8 97 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	0.0	4 50.0	4 50.0	0.0	Class   Department   College   University	4.235	0.535 0.762 0.980 1.000	8 97 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	1 12.5	3 37.5	4 50.0	0.0	Class   Department   College   University	4.248	0.744 0.816 0.980 1.026	8 96 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	1 12.5	3 37.5	4 50.0	0.0	Class   Department   College   University	4.323	0.744 0.681 0.865 0.861	8 97 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	1 12.5	1 12.5	6 75.0	0.0	Class   Department   College   University	4.255	0.744 0.910 0.995 1.018	8 97 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	:	
S_Lev: 100 & 200 Level Course Dept: POLITICAL SCIENCE		ts Scar	Y	his Leve our Dept		141 178 5248	A= N= D=	N Di	Agree . Agree . Geutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	10 7.1	2	40 28.4	89 63.1	0	Class   Department   College   University	4.475 4.478 4.344	0.842 0.804 0.898 0.903	141 178 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	0.0	10 7.1	9 6.4	32 22.7	90 63.8	0.0	Class   Department   College   University	4.280	0.897 0.869 0.968 1.025	141 178 5205 25430
3. I understood how my grades were assigned in this course.	0.0	3 2.1	4 2.8	40 28.4	94 66.7	0	Class   Department   College   University	4.327	0.654 0.663 0.951 0.887	141 178 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	3 2.1	12 8.5	47 33.3	79 56.0	0	Class   Department   College   University	4.317	0.740 0.760 0.809 0.857	141 178 5208 25416
5. The instructor was available to assist students outside of class.	0.0	4 2.8	20 14.2	36 25.5	80 56.7	1 0.7	Class   Department   College   University	4.287	0.834 0.846 0.917 0.916	140 177 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.7	6 4.3	14 9.9	42 29.8	78 55.3	0	Class   Department   College   University	4.235	0.878 0.884 0.980 1.000	141 178 5207 25426
7. The instructor provided relevant feedback that helped me learn.	2	5 3.5	12 8.5	46 32.6	76 53.9	0	Class   Department   College   University	4.340 4.343 4.248 4.180	0.885 0.890 0.980 1.026	141 178 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	2	8 5.7	55 39.0	76 53.9	0	Class   Department   College   University	4.323	0.671 0.705 0.865 0.861	141 178 5206 25420
9. The physical environment was conducive to learning.	5 3.5	5 3.5	11 7.8	33 23.4	87 61.7	0	Class   Department   College   University	4.255	1.016 1.031 0.995 1.018	141 178 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 300 & 400 Level Course Dept: POLITICAL SCIENCE		ets Scar	Y	his Levo our Depo		33 178 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagre	(4)(3)(2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	0.0	2 6.1	13 39.4	18 54.5	0.0	Class   Department   College   University	4.344	0.619 0.804 0.898 0.903	33 178 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	6 18.2	8 24.2	19 57.6	0.0	Class   Department   College   University	4.280	0.788 0.869 0.968 1.025	33 178 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	3.0	15 45.5	17 51.5	0.0	Class   Department   College   University	4.327	0.566 0.663 0.951 0.887	33 178 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	1 3.0	5 15.2	14 42.4	13 39.4	0.0	Class   Department   College   University	4.317	0.808 0.760 0.809 0.857	33 178 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	1 3.0	1 3.0	1 3.0	11 33.3	19 57.6	0	Class   Department   College   University	4.287	0.933 0.846 0.917 0.916	33 177 5204 25415
6. The instructor provided feedback to me in a timely manner.	1 3.0	1 3.0	2 6.1	12 36.4	17 51.5	0	Class   Department   College   University	4.235	0.951 0.884 0.980 1.000	33 178 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	3.0	0.0	4 12.1	9 27.3	19 57.6	0.0	Class   Department   College   University	4.248	0.929 0.890 0.980 1.026	33 178 5204 25423
8. The instructor set and maintained high standards that students must meet.	3.0	0.0	3.0	13 39.4	18 54.5	0	Class   Department   College   University	4.323	0.830 0.705 0.865 0.861	33 178 5206 25420
9. The physical environment was conducive to learning.	1 3.0	2 6.1	7 21.2	8 24.2	15 45.5	0	Class   Department   College   University	4.255	1.104 1.031 0.995 1.018	33 178 5199 25389

Department Information		Number	of Stu	dents:			Resp	oonse Key	·:	
S_Lev: 600, 700 & 800 Level ( Dept: POLITICAL SCIENCE		ets Scai	Y	our Dep	rel ot lege	4 178 5248	A= N= D=	N Di	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation as							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	1 25.0	0.0	3 75.0	0	Class   Department   College   University	4.500 4.478 4.344	1.000 0.804 0.898 0.903	4 178 5212 25436
This instructor provided     content and materials that     were clear and well organized.	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class   Department   College   University	4.280	0.500 0.869 0.968 1.025	4 178 5205 25430
3. I understood how my grades were assigned in this course.	0.0	1 25.0	0.0	0.0	3 75.0	0	Class   Department   College   University	4.327	1.500 0.663 0.951 0.887	4 178 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	0.0	1 25.0	0.0	3 75.0	0	Class   Department   College   University	4.317	1.000 0.760 0.809 0.857	4 178 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	0.0	4 100.0	0	Class   Department   College   University	4.287	0.000 0.846 0.917 0.916	4 177 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class   Department   College   University	4.235	0.500 0.884 0.980 1.000	4 178 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	1 25.0	1 25.0	2 50.0	0.0	Class   Department   College   University	4.250 4.343 4.248 4.180	0.957 0.890 0.980 1.026	4 178 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	1 25.0	0.0	3 75.0	0	Class   Department   College   University	4.323	1.000 0.705 0.865 0.861	4 178 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	0.0	1 25.0	3 75.0	0	Class   Department   College   University	4.255	0.500 1.031 0.995 1.018	4 178 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	<b>7:</b>	
S Lev: 300 & 400 Level Course Dept: RELIGIOUS STUDIES		ts Scar	Y	his Levo our Depo		12 12 5248	A= N= D=	l Di	/ Agree . Agree . Neutral . Isagree . / Disagre	(4)(3)(2)
Frequencies (top row) and percent S.D. is the Standard Deviation ar							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0	0.0	1 8.3	1 8.3	9 75.0	1 8.3	Class   Department   College   University	4.727 4.727 4.344	0.647 0.647 0.898 0.903	11 11 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	8.3	1 8.3	9 75.0	1 8.3	Class   Department   College   University	4.727 4.727 4.280 4.229	0.647 0.647 0.968 1.025	11 11 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	1 8.3	1 8.3	9 75.0	1 8.3	Class   Department   College   University	4.327	0.647 0.647 0.951 0.887	11 11 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	0.0	1 8.3	6 50.0	4 33.3	1 8.3	Class   Department   College   University	4.317	0.647 0.647 0.809 0.857	11 11 5208 25416
5. The instructor was available to assist students outside of class.	0	0.0	1 8.3	5 41.7	5 41.7	1 8.3	Class   Department   College   University	4.287	0.674 0.674 0.917 0.916	11 11 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.0	0.0	1 8.3	2 16.7	8 66.7	1 8.3	Class   Department   College   University	4.235	0.674 0.674 0.980 1.000	11 11 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	0.0	0.0	1 8.3	3 25.0	7 58.3	18.3	Class   Department   College   University	4.545 4.545 4.248 4.180	0.688 0.688 0.980 1.026	11 11 5204 25423
8. The instructor set and maintained high standards that students must meet.	0	0.0	1 8.3	3 25.0	7 58.3	1 8.3	Class   Department   College   University	4.323	0.688 0.688 0.865 0.861	11 11 5206 25420
9. The physical environment was conducive to learning.	0	0.0	2 16.7	1 8.3	8 66.7	1 8.3	Class   Department   College   University	4.255	0.820 0.820 0.995 1.018	11 11 5199 25389

Department Information		Number					Resp	oonse Key	:	
S_Lev: 100 & 200 Level Course Dept: SOCIOLOGY	s	ets Scar	nned: Tl	nis Lev	el t lege	273 328 5248	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	1 0.4	4 1.5	64 23.4	203 74.4	1 0.4	Class   Department   College   University	4.724 4.719 4.344	0.502 0.496 0.898 0.903	272 327 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	7 2.6	0.7	54 19.8	210 76.9	0.0	Class   Department   College   University	4.280	0.613 0.624 0.968 1.025	273 328 5205 25430
3. I understood how my grades were assigned in this course.	0.0	3 1.1	6 2.2	46 16.8	218 79.9	0	Class   Department   College   University	4.327	0.544 0.595 0.951 0.887	273 328 5208 25420
4. I met or exceeded the course objectives given for this course.	1 0.4	5 1.8	12 4.4	68 24.9	187 68.5	0	Class   Department   College   University	4.317	0.696 0.692 0.809 0.857	273 328 5208 25416
5. The instructor was available to assist students outside of class.	0	5 1.8	23 8.4	77 28.2	168 61.5	0	Class   Department   College   University	4.287	0.728 0.712 0.917 0.916	273 328 5204 25415
6. The instructor provided feedback to me in a timely manner.	0	6 2.2	25 9.2	80 29.3	161 59.0	1 0.4	Class   Department   College   University	4.235	0.753 0.757 0.980 1.000	272 327 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	2	29 10.6	74 27.1	168 61.5	0	Class   Department   College   University	4.248	0.713 0.729 0.980 1.026	273 328 5204 25423
8. The instructor set and maintained high standards that students must meet.	0	3 1.1	13 4.8	84 30.8	172 63.0	1 0.4	Class   Department   College   University	4.323	0.640 0.637 0.865 0.861	272 327 5206 25420
9. The physical environment was conducive to learning.	1 0.4	4 1.5	16 5.9	69 25.3	182 66.7	1 0.4	Class   Department   College   University	4.255	0.705 0.696 0.995 1.018	272 327 5199 25389

Department Information		Number					Resp	oonse Key	·:	
S_Lev: 300 & 400 Level Course Dept: SOCIOLOGY	s	ets Scan	ned: Tl	nis Leve		50 328 5248	A= N= D=	N Di	Agree . Agree . Meutral . Sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	Α	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	0	0.0	15 30.0	35 70.0	0	Class   Department   College   University	4.700 4.719 4.344	0.463 0.496 0.898 0.903	50 327 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	1 2.0	1 2.0	19 38.0	29 58.0	0	Class   Department   College   University	4.280	0.646 0.624 0.968 1.025	50 328 5205 25430
3. I understood how my grades were assigned in this course.	1 2.0	0	4 8.0	10 20.0	35 70.0	0	Class   Department   College   University	4.327	0.812 0.595 0.951 0.887	50 328 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	1 2.0	2 4.0	21 42.0	26 52.0	0	Class   Department   College   University	4.317	0.675 0.692 0.809 0.857	50 328 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	3 6.0	14 28.0	33 66.0	0	Class   Department   College   University	4.287	0.606 0.712 0.917 0.916	50 328 5204 25415
6. The instructor provided feedback to me in a timely manner.	1 2.0	0	2 4.0	18 36.0	29 58.0	0	Class   Department   College   University	4.235	0.762 0.757 0.980 1.000	50 327 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	3 6.0	2 4.0	15 30.0	30 60.0	0	Class   Department   College   University	4.248	0.837 0.729 0.980 1.026	50 328 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	1 2.0	1 2.0	15 30.0	33 66.0	0	Class   Department   College   University	4.323	0.639 0.637 0.865 0.861	50 327 5206 25420
9. The physical environment was conducive to learning.	0	0	4 8.0	12 24.0	34 68.0	0	Class   Department   College   University	4.255	0.639 0.696 0.995 1.018	50 327 5199 25389

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 600, 700 & 800 Level C Dept: SOCIOLOGY		ts Scar	Y	his Levo our Dep our Col		5 328 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	0.0	0.0	2 40.0	3 60.0	0.0	Class   Department   College   University	4.344	0.548 0.496 0.898 0.903	5 327 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	20.0	0.0	4 80.0	0 0 0	Class   Department   College   University	4.280	0.894 0.624 0.968 1.025	5 328 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	2 40.0	3 60.0	0	Class   Department   College   University	4.327	0.548 0.595 0.951 0.887	5 328 5208 25420
4. I met or exceeded the course objectives given for this course.	0.0	0.0	0.0	3 60.0	2 40.0	0	Class   Department   College   University	4.317	0.548 0.692 0.809 0.857	5 328 5208 25416
5. The instructor was available to assist students outside of class.	0.0	0.0	1 20.0	2 40.0	2 40.0	0	Class   Department   College   University	4.287	0.837 0.712 0.917 0.916	5 328 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	2 40.0	20.0	2 40.0	0.0	Class   Department   College   University	4.000 4.453 4.235 4.205	1.000 0.757 0.980 1.000	5 327 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	2 40.0	3 60.0	0.0	Class   Department   College   University	4.600 4.488 4.248 4.180	0.548 0.729 0.980 1.026	5 328 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	2 40.0	3 60.0	0	Class   Department   College   University	4.323	0.548 0.637 0.865 0.861	5 327 5206 25420
9. The physical environment was conducive to learning.	0.0	0	1 20.0	0.0	4 80.0	0	Class   Department   College   University	4.255	0.894 0.696 0.995 1.018	5 327 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course Dept: SPANISH		ets Scar	Y	his Levo our Dep		21 48 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagre	(4)(3)(2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	0.0	0.0	0.0	5 23.8	16 76.2	0	Class   Department   College   University	4.762 4.500 4.344	0.436 0.851 0.898 0.903	21 48 5212 25436
This instructor provided content and materials that were clear and well organized.	0.0	0.0	2 9.5	3 14.3	16 76.2	0.0	Class   Department   College   University	4.280	0.658 1.026 0.968 1.025	21 48 5205 25430
3. I understood how my grades were assigned in this course.	0.0	0.0	2 9.5	5 23.8	14 66.7	0.0	Class   Department   College   University	4.327	0.676 0.890 0.951 0.887	21 48 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	4 19.0	9 42.9	8 38.1	0	Class   Department   College   University	4.317	0.750 0.891 0.809 0.857	21 48 5208 25416
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	0.0	1 4.8	4 19.0	16 76.2	0	Class   Department   College   University	4.287	0.561 0.804 0.917 0.916	21 47 5204 25415
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.0	0.0	0.0	4 19.0	17 81.0	0	Class   Department   College   University	4.235	0.402 0.679 0.980 1.000	21 48 5207 25426
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	0.0	0.0	0.0	5 23.8	16 76.2	0.0	Class   Department   College   University	4.248	0.436 0.644 0.980 1.026	21 48 5204 25423
8. The instructor set and maintained high standards that students must meet.	0	0.0	1 4.8	4 19.0	16 76.2	0	Class   Department   College   University	4.323	0.561 0.649 0.865 0.861	21 48 5206 25420
9. The physical environment was conducive to learning.	0	0.0	0.0	3 14.3	18 85.7	0	Class   Department   College   University	4.255	0.359 0.526 0.995 1.018	21 48 5199 25389

Department Information		Number	of Stu	dents:			Resp	onse Key	<b>7:</b>	
S_Lev: 300 & 400 Level Course Dept: SPANISH		ets Scar	Y	our Dep		27 48 5248	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree .	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	1 3.7	3.7	2 7.4	8 29.6	15 55.6	0.0	Class   Department   College   University	4.296 4.500 4.344	1.031 0.851 0.898 0.903	27 48 5212 25436
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	1 3.7	3 11.1	3 11.1	9 33.3	11 40.7	0.0	Class   Department   College   University	4.280	1.160 1.026 0.968 1.025	27 48 5205 25430
3. I understood how my grades were assigned in this course.	1 3.7	0.0	5 18.5	7 25.9	14 51.9	0.0	Class   Department   College   University	4.327	1.013 0.890 0.951 0.887	27 48 5208 25420
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	1 3.7	3.7	2 7.4	11 40.7	12 44.4	0.0	Class   Department   College   University	4.317	1.001 0.891 0.809 0.857	27 48 5208 25416
5. The instructor was available to assist students outside of class.	1 3.7	0.0	2 7.4	10 37.0	13 48.1	1 3.7	Class   Department   College   University	4.287	0.928 0.804 0.917 0.916	26 47 5204 25415
6. The instructor provided feedback to me in a timely manner.	0.0	1 3.7	2 7.4	9 33.3	15 55.6	0.0	Class   Department   College   University	4.235	0.797 0.679 0.980 1.000	27 48 5207 25426
7. The instructor provided relevant feedback that helped me learn.	0.0	1 3.7	1 3.7	9	16 59.3	0.0	Class   Department   College   University	4.248	0.753 0.644 0.980 1.026	27 48 5204 25423
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	3 11.1	9 33.3	15 55.6	0.0	Class   Department   College   University	4.323	0.698 0.649 0.865 0.861	27 48 5206 25420
9. The physical environment was conducive to learning.	0.0	0.0	2 7.4	5 18.5	20 74.1	0.0	Class   Department   College   University	4.255	0.620 0.526 0.995 1.018	27 48 5199 25389

Department Information		Number	of Stud	dents:			Response Key:						
S_Lev: 100 & 200 Level Course Dept: THEATRE ARTS		ts Scar	Y	his Leve our Depi		120 138 5248	D= Disagree .						
Frequencies (top row) and percents (bottom row) are provided to the right of each question.  S.D. is the Standard Deviation and #R is the Number of Valid Responses.													
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R			
This instructor provided     well-defined course     objectives.	0.0	0.0	5 4.2	34 28.3	81 67.5	0	Class   Department   College   University	4.633 4.628 4.344	0.564 0.569 0.898 0.903	120 137 5212 25436			
This instructor provided content and materials that were clear and well organized.	0.0	0.0	6 5.0	37 30.8	77 64.2	0.0	Class   Department   College   University	4.280	0.587 0.639 0.968 1.025	120 137 5205 25430			
3. I understood how my grades were assigned in this course.	0.0	0.0	10 8.3	34 28.3	76 63.3	0.0	Class   Department   College   University	4.327	0.646 0.639 0.951 0.887	120 137 5208 25420			
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	1	5 4.2	34 28.3	80 66.7	0	Class   Department   College   University	4.317	0.612 0.625 0.809 0.857	120 137 5208 25416			
<ol><li>The instructor was available to assist students outside of class.</li></ol>	0.0	0.0	21 17.5	32 26.7	67 55.8	0	Class   Department   College   University	4.287	0.769 0.746 0.917 0.916	120 137 5204 25415			
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.0	0.8	14 11.7	37 30.8	68 56.7	0	Class   Department   College   University	4.235	0.730 0.708 0.980 1.000	120 137 5207 25426			
7. The instructor provided relevant feedback that helped me learn.	0.0	1	16 13.3	35 29.2	68 56.7	0	Class   Department   College   University	4.248	0.751 0.737 0.980 1.026	120 137 5204 25423			
8. The instructor set and maintained high standards that students must meet.	0.0	1 0.8	12 10.0	35 29.2	72 60.0	0	Class   Department   College   University	4.323	0.710 0.687 0.865 0.861	120 137 5206 25420			
9. The physical environment was conducive to learning.	1	1	16 13.3	34 28.3	68 56.7	0	Class   Department   College   University	4.255	0.813 0.793 0.995 1.018	120 137 5199 25389			

Department Information		Number	of Stud	dents:			Response Key:							
S_Lev: 300 & 400 Level Course Dept: THEATRE ARTS		ts Scar	Y	his Leve our Dept		18 138 5248	SA= Strongly Agree A= Agree N= Neutral D= Disagree SD= Strongly Disagree							
Frequencies (top row) and percents (bottom row) are provided to the right of each question.  S.D. is the Standard Deviation and #R is the Number of Valid Responses.														
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R				
1. This instructor provided well-defined course objectives.	0.0	0.0	1 5.6	5 27.8	11 61.1	1 5.6	Class   Department   College   University	4.588 4.628 4.344	0.618 0.569 0.898 0.903	17 137 5212 25436				
This instructor provided content and materials that were clear and well organized.	0.0	1 5.6	2 11.1	2 11.1	12 66.7	1 5.6	Class   Department   College   University	4.280	0.943 0.639 0.968 1.025	17 137 5205 25430				
3. I understood how my grades were assigned in this course.	0.0	0.0	1 5.6	2 11.1	14 77.8	1 5.6	Class   Department   College   University	4.327	0.562 0.639 0.951 0.887	17 137 5208 25420				
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	2 11.1	5 27.8	10 55.6	1 5.6	Class   Department   College   University	4.317	0.717 0.625 0.809 0.857	17 137 5208 25416				
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	4 22.2	13 72.2	1 5.6	Class   Department   College   University	4.287	0.437 0.746 0.917 0.916	17 137 5204 25415				
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	0.0	4 22.2	13 72.2	1 5.6	Class   Department   College   University	4.235	0.437 0.708 0.980 1.000	17 137 5207 25426				
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	1 5.6	4 22.2	12 66.7	1 5.6	Class   Department   College   University	4.647 4.445 4.248 4.180	0.606 0.737 0.980 1.026	17 137 5204 25423				
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	0.0	3 16.7	14 77.8	1 5.6	Class   Department   College   University	4.323	0.393 0.687 0.865 0.861	17 137 5206 25420				
9. The physical environment was conducive to learning.	0.0	0.0	1 5.6	3 16.7	13 72.2	1 5.6	Class   Department   College   University	4.255	0.588 0.793 0.995 1.018	17 137 5199 25389				

Department Information		Number	of Stu	dents:			Response Key:						
S_Lev: 100 & 200 Level Course Dept: TIPS		ets Sca	Y	his Leve our Dep	t	8 8 5248	SA= Strongly Agree( A= Agree( N= Neutral( D= Disagree( SD= Strongly Disagree (						
Frequencies (top row) and percent S.D. is the Standard Deviation ar							each question.						
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R			
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	2 25.0	1 12.5	1 12.5	4 50.0	0.0	Class   Department   College   University	4.344	1.356 1.356 0.898 0.903	8 8 5212 25436			
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	0.0	1 12.5	1 12.5	2 25.0	4 50.0	0.0	Class   Department   College   University	4.280	1.126 1.126 0.968 1.025	8 8 5205 25430			
3. I understood how my grades were assigned in this course.	1 12.5	0.0	1 12.5	2 25.0	4 50.0	0.0	Class   Department   College   University	4.327	1.414 1.414 0.951 0.887	8 8 5208 25420			
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	3 37.5	2 25.0	3 37.5	0.0	Class   Department   College   University	4.317	0.926 0.926 0.809 0.857	8 8 5208 25416			
5. The instructor was available to assist students outside of class.	1 12.5	1 12.5	1 12.5	2 25.0	3 37.5	0.0	Class   Department   College   University	4.287	1.506 1.506 0.917 0.916	8 8 5204 25415			
6. The instructor provided feedback to me in a timely manner.	1 12.5	1 12.5	1 12.5	2 25.0	3 37.5	0.0	Class   Department   College   University	4.235	1.506 1.506 0.980 1.000	8 8 5207 25426			
7. The instructor provided relevant feedback that helped me learn.	1 12.5	1 12.5	1 12.5	2 25.0	3 37.5	0.0	Class   Department   College   University	4.248	1.506 1.506 0.980 1.026	8 8 5204 25423			
8. The instructor set and maintained high standards that students must meet.	0.0	1 12.5	1 12.5	1 12.5	5 62.5	0.0	Class   Department   College   University	4.323	1.165 1.165 0.865 0.861	8 8 5206 25420			
9. The physical environment was conducive to learning.	1 12.5	0.0	2 25.0	1 12.5	4 50.0	0.0	Class   Department   College   University	4.255	1.458 1.458 0.995 1.018	8 8 5199 25389			

Department Information		Number	of Stud	dents:			Response Key:						
S_Lev: 100 & 200 Level Course Dept: UNIVERSITY GENERAL		ts Scar	Y	SA= Strongly Ag						(4)(3)(2)			
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.						
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R			
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	3 4.8	5 7.9	22 34.9	33 52.4	0	Class   Department   College   University	4.344	0.826 0.802 0.898 0.903	63 70 5212 25436			
This instructor provided content and materials that were clear and well organized.	3.2	1	3.2	24 38.1	34 54.0	0.0	Class   Department   College   University	4.280	0.888 0.858 0.968 1.025	63 70 5205 25430			
3. I understood how my grades were assigned in this course.	1	3 4.8	6 9.5	20 31.7	33 52.4	0.0	Class   Department   College   University	4.327	0.941 0.910 0.951 0.887	63 70 5208 25420			
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	1	2 3.2	7 11.1	25 39.7	28 44.4	0	Class   Department   College   University	4.317	0.888 0.887 0.809 0.857	63 70 5208 25416			
<ol><li>The instructor was available to assist students outside of class.</li></ol>	1	0.0	4 6.3	15 23.8	43 68.3	0	Class   Department   College   University	4.287	0.756 0.755 0.917 0.916	63 70 5204 25415			
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	1	1 1.6	2 3.2	22 34.9	37 58.7	0	Class   Department   College   University	4.235	0.780 0.791 0.980 1.000	63 70 5207 25426			
<ol> <li>The instructor provided relevant feedback that helped me learn.</li> </ol>	1.6	2 3.2	2 3.2	25 39.7	33 52.4	0.0	Class   Department   College   University	4.248	0.831 0.852 0.980 1.026	63 70 5204 25423			
8. The instructor set and maintained high standards that students must meet.	0.0	1 1.6	11 17.5	23 36.5	28 44.4	0	Class   Department   College   University	4.323	0.797 0.793 0.865 0.861	63 70 5206 25420			
9. The physical environment was conducive to learning.	0.0	2 3.2	7 11.1	26 41.3	28 44.4	0	Class   Department   College   University	4.255	0.787 0.802 0.995 1.018	63 70 5199 25389			

Department Information	Number of Students: Response Key:											
S_Lev: 300 & 400 Level Course Dept: UNIVERSITY GENERAL	S	ets Scar	nned: Tl	nis Lev our Dep	el t lege	7 70 5248	A= N= D=	N= Neutral(3				
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question					
Please rate the following:	SD	D	N	Α	SA	OMIT	AREA	MEAN	S.D.	#R		
This instructor provided     well-defined course     objectives.	0.0	0.0	0.0	3 42.9	4 57.1	0.0	Class   Department   College   University	4.571 4.371 4.344	0.535 0.802 0.898 0.903	7 70 5212 25436		
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	3 42.9	4 57.1	0.0	Class   Department   College   University	4.280	0.535 0.858 0.968 1.025	7 70 5205 25430		
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	3 42.9	4 57.1	0.0	Class   Department   College   University	4.327	0.535 0.910 0.951 0.887	7 70 5208 25420		
4. I met or exceeded the course objectives given for this course.	0.0	0.0	28.6	1 14.3	4 57.1	0.0	Class   Department   College   University	4.317	0.951 0.887 0.809 0.857	7 70 5208 25416		
5. The instructor was available to assist students outside of class.	0.0	0.0	1 14.3	3 42.9	3 42.9	0.0	Class   Department   College   University	4.287	0.756 0.755 0.917 0.916	7 70 5204 25415		
6. The instructor provided feedback to me in a timely manner.	0.0	0.0	28.6	3 42.9	2 28.6	0.0	Class   Department   College   University	4.235	0.816 0.791 0.980 1.000	7 70 5207 25426		
7. The instructor provided relevant feedback that helped me learn.	0.0	1 14.3	0.0	3 42.9	3 42.9	0.0	Class   Department   College   University	4.248	1.069 0.852 0.980 1.026	7 70 5204 25423		
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	1 14.3	2 28.6	4 57.1	0.0	Class   Department   College   University	4.323	0.787 0.793 0.865 0.861	7 70 5206 25420		
9. The physical environment was conducive to learning.	0.0	0.0	3 42.9	2 28.6	2 28.6	0.0	Class   Department   College   University	4.255	0.900 0.802 0.995 1.018	7 70 5199 25389		

Department Information		Number	of Stu	dents:			Response Key:					
S_Lev: 100 & 200 Level Course Dept: WOMEN'S & GENDER STUDI	DER STUDIES # Sheets Scanned: This Your											
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.					
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R		
<ol> <li>This instructor provided well-defined course objectives.</li> </ol>	0.0	1 3.1	2 6.3	5 15.6	24 75.0	0.0	Class   Department   College   University	4.344	0.751 0.751 0.898 0.903	32 32 5212 25436		
This instructor provided content and materials that were clear and well organized.	0.0	3.1	2 6.3	7 21.9	22 68.8	0	Class   Department   College   University	4.280	0.759 0.759 0.968 1.025	32 32 5205 25430		
3. I understood how my grades were assigned in this course.	0.0	0.0	2 6.3	8 25.0	22 68.8	0.0	Class   Department   College   University	4.327	0.609 0.609 0.951 0.887	32 32 5208 25420		
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	0.0	0.0	4 12.5	12 37.5	16 50.0	0.0	Class   Department   College   University	4.317	0.707 0.707 0.809 0.857	32 32 5208 25416		
5. The instructor was available to assist students outside of class.	0.0	0.0	3.1	4 12.5	27 84.4	0.0	Class   Department   College   University	4.287	0.471 0.471 0.917 0.916	32 32 5204 25415		
<ol> <li>The instructor provided feedback to me in a timely manner.</li> </ol>	0.0	0.0	2 6.3	5 15.6	25 78.1	0.0	Class   Department   College   University	4.719 4.719 4.235 4.205	0.581 0.581 0.980 1.000	32 32 5207 25426		
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	3 9.4	4 12.5	25 78.1	0.0	Class   Department   College   University	4.248	0.644 0.644 0.980 1.026	32 32 5204 25423		
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	3 9.4	7 21.9	22 68.8	0	Class   Department   College   University	4.323	0.665 0.665 0.865 0.861	32 32 5206 25420		
9. The physical environment was conducive to learning.	0	1 3.1	1 3.1	7 21.9	23 71.9	0	Class   Department   College   University	4.255	0.707 0.707 0.995 1.018	32 32 5199 25389		